See the Review on “y(2S) and x. branching ratios” before the
Xc0(1P) Listings.

XC2(1P) MASS

VALUE (MeV) EVTS DOCUMENT ID TECN COMMENT
3556.17 + 0.07 OUR AVERAGE
35573 + 1.7 +0.7 611 1 aAl 178BLHCB pp — bbX —

A0kt KT)X
3556.10 + 0.06 +£0.11 4.0k 2 AAIL 1781 LHCB xop — J/yutpu™
35553 =+ 0.6 +2.2 2.5k UEHARA 08 BELL ~vy — hadrons
3555.70 £+ 0.59 +0.39 ABLIKIM 056 BES2 (25) = 7xc2
3556.173+ 0.123+0.020 ANDREOTTI 05A E835 pp— eTe v

3550.9 + 2.9 EISENSTEIN 01 CLE2 ete™ —
e+ef><62
3556.4 + 0.7 BAI 998 BES  (25) = ~X
3556.22 + 0.131+£0.020 585 3 ARMSTRONG 92 E760 pp — ete
3556.9 + 0.4 +£0.5 50 BAGLIN 868 SPEC pp — eTe X
3557.8 + 0.2 +4 4 GAISER 86 CBAL (2S) — ~X
3553.4 + 2.2 66 5LEMOIGNE 82 GOLI 1857~ Be —
vt pT A
3555.9 + 0.7 6 OREGLIA 82 CBAL ete™ — J/yp2y
3557 £ 15 69 7 HIMEL 80 MRK2 ete™ — J/yp2y
3551  +£11 15 BRANDELIK 798 DASP ete™ — J/y2y
3553 4+ 4 7 BARTEL 788 CNTR ete™ — J/y2y
3553 L+ 4 +4 7,8 TANENBAUM 78 MRK1 et e~
3563 + 7 360 7 BIDDICK 77 CNTR ete™ — ~X
e o o We do not use the following data for averages, fits, limits, etc. e o @
3555.4 + 1.3 53 UEHARA 13 BELL ~v — K%K%
3543 410 4 WHITAKER 76 MRK1 ete™ — J/y2y

LFrom a fit of the ¢¢ invariant mass with the width of Xc2(1P) fixed to the PDG 16
value.
2 AALJ 1781 reports also m(xcp) — M(x1) = 45.39 £ 0.07 £ 0.03 MeV.

3 Recalculated by ANDREOTTI 05A, using the value of ¢)(25) mass from AULCHENKO 03.
4 Using mass of (25) = 3686.0 MeV.

5J/w(15) mass constrained to 3097 MeV.

6 Assuming (25) mass = 3686 MeV and J/¢(1S) mass = 3097 MeV.

7 Mass value shifted by us by amount appropriate for ¢(2S) mass = 3686 MeV and
J/4(1S) mass = 3097 MeV.

From a simultaneous fit to radiative and hadronic decay channels.

Xc2(1P) WIDTH
VALUE (MeV) EVTS DOCUMENT ID TECN COMMENT
1.97 +0.09 OURFIT
2.00 +0.11 OUR AVERAGE
2.10 £0.20 £0.02 4.0k AALJ 1781 LHCB xop — J/vouTu~
1.915+0.188+0.013 ANDREOTTI 05A E835 pp— ete ~

1.96 +0.17 +0.07 585 L ARMSTRONG 92 E760 pp — ete vy
26 14 50 BAGLIN 868 SPEC pp — eTe X
28 121 2 GAISER 86 CBAL (25) » X

1 Recalculated by ANDREOTTI 05A.
2Errors correspond to 90% confidence level; authors give only width range.

Xc2(1P) DECAY MODES

Mode Fraction (I';/T) Confidence level
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Hadronic decays

( 1.0240.09) %

( 1.8340.23) %
( 2.19+0.34) %
( 1.11£0.15) x 10~3
(2.1 £04 )x 103
( 1.3840.20) %
(41 £1.2 )x 1073
(29 +0.8 )x 1073

(3.8 £0.9 )x 103
(3.7 £0.8 )x 103
(2.9 £0.8 )x 1073

(1.3 £0.4 )x 1073
(84 £0.9 )x10~3
( 1.1740.13) %

(7.3 £0.8 )x 103
(21 £1.1 )x 1073
(23 £04 )x10~3
(86 +£1.8 )x 103
( 1.06£0.09) x 10~3
(53 +0.6 )x10~4
(84 £1.0)x10™4
(7.3 £0.9 )x 1074
(9.6 £2.7 )x 1070
( 2.23£0.09) x 10~3
(3.7 £1.6 )x 10~3
(2.0 £0.4 )x 1072
(6 +4 )x100
(48 +13 )x1074
(50 +1.8 )x 104
(5.4 +0.4 )x10~4
( 1.0140.06) x 10~3
(52 +£04 )x 1074
( 1.4440.21) x 10~4
( 1.2440.27) x 10~4
( 1.4840.12) x 10~3
( 1.2440.17) x 1073
(52 +0.8 )x10™4
(56 £2.1 )x10~%
( 1.29£0.34) x 10~3
(1.8 £0.6 )x10~3
( 1.2840.18) x 1073
(3.0 +0.8 )x 104

< 3.2 x 104

( 1.9440.34) x 10~4
(2.2 £05 )x 107>
(46 +£0.6 )x107°
(2.2 £05)x10~3

< 4 x 10~4

( 1.13+0.18) x 10~%
( 1.65+£0.20) x 10~3
( 1.4240.29) x 10~3
(48 £0.7 )x 103
(2.7 £05 ) x 1073

90%

90%
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90%
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90%
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CONSTRAINED FIT INFORMATION

A multiparticle fit to xc1(1P), xc0(1P), xc2(1P), and ¢(2S)
with 4 total widths, a partial width, 25 combinations of partial
widths obtained from integrated cross section, and 84 branching
ratios uses 248 measurements to determine 49 parameters. The
overall fit has a X2 = 378.1 for 199 degrees of freedom.

The following off-diagonal array elements are the correlation coefficients
<5pi6pj>/(6pi-(5pj), in percent, from the fit to parameters p;, including the branching
fractions, x; = I;/Tiotal-
X14 7
x17 2 21
X18 4 3 1
X20 7 5 1 3
o5 7 6 1 4 10
X26 18 2 0 1 1 1
31 3 3 1 2 5 12 1
X32 5 4 1 3 7 15 1 8
X33 5 4 1 2 6 13 1 7 8
x40 2 2 0 1 3 7 0 3 4 4
X51 4 3 1 2 4 1 4 5 4
56 10 9 2 5 9 11 2 5 8 7
X69 3 3 1 2 5 13 1 7 8 7
Xg1 12 10 2 6 15 34 2 18 22 18
Xg5 —6 —4 -1 -2 2 20 -2 12 12 10
r —-23 19 -4 -11 -—-19 25 -5 -12 -—-18 15
X1 X4 X17 X1g X0 Xo5  Xo6  X31  X32 X33
X51
X56 5
X69 4 6
X91 10 11 4 18
X5 5 4 18 12 34
r -8 11 45 -—-12 —46 43
Xg2  X51  X56 X609  X91  X95
Xc2(1P) PARTIAL WIDTHS
— Xe2(1P) F()F(vJ/%(15))/T (total) ———
F(pp) x T(vJ4/¥(1S))/Tiotal lseMo1/l
VALUE (eV) DOCUMENT ID TECN  COMMENT
27.5+1.2 OUR FIT
27.5+1.5 OUR AVERAGE
27.0+15+1.1 1 ANDREOTT!I 05a E835 pp — et e v
27.74£15£2.0 L2 ARMSTRONG 92 E760 pp— ete
36 +8 1 BAGLIN 868 SPEC pp — ete X
1 Calculated by us using B(J/¢(15) — eTe™) = 0.0593 + 0.0010.
2 Recalculated by ANDREOTTI 05A.
F(yy) x F(vJ/%(15))/Trotal Foso1/l
VALUE (eV) EVTS DOCUMENT ID TECN  COMMENT
107+ 5 OURFIT
117+ 10 OUR AVERAGE
111+ 124+ 9 147 £ 15 1poBBS 06 CLE3 104 ete —
ete™ Xc2
114+ 11+ 9 136+133 L2ABE 02T BELL eTe™ — eTe xo

130+ 55+ 21 L3IACCIARRI 99 L3 ete™ = ete xo
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2424+ 65+ 51 L4 ACKER...K... 98 OPAL eTe™ — eTe xo
150+ 42+ 36 L5DOMINICK 94 CLE2 eTe™ — eTe xo
47042404120 1.6 BAUER 93 TPC ete™ = ete xo

L Calculated by us using B(J/¥ — £T¢7) = 0.1187 & 0.0008.

2l systematic errors added in quadrature.

3 The value for M(xco — ) reported in ACCIARRI 99E is derived using B(x.o —
v J/p(1S))xB(J/(1S) — £T£7) = 0.0162 £ 0.0014.

4 The value for M(xcp — 7v7) reported in ACKERSTAFF,K 98 is derived using B(x.p —
~vJ/(1S)) = 0.135 + 0.011 and B(J/1(1S) — £T£7) = 0.1203 + 0.0038.

5The value for I(xco — 77) reported in DOMINICK 94 is derived using B(x.p —
vJ/p(1S))= 0.135 + 0.011, B(J/¥(1S) — ete™) = 0.0627 + 0.0020, and
B(J/¥(1S) — pt p™) = 0.0597 + 0.0025.

5The value for M(xco — ~77) reported in BAUER 93 is derived using B(x.o —
~J/9(1S))= 0.135 + 0.011, B(J/¥(1S) — eTe™) = 0.0627 + 0.0020, and
B(J/¢(1S) — pt p™) = 0.0597 + 0.0025.

— Xxc2(1P) T (y7)/T (total) ——
F(2(1r+ 1r_)) X r('y'y)/rm. F1los/l

VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

5.7 £0.5 OURFIT

5.2 0.7 OUR AVERAGE

5.0140.44+£0.55 1597 +138 UEHARA 08 BELL ~vy — xgo — 2(nta)

6.4 £1.8 +£0.8 EISENSTEIN 01 CLE2 eTe™ — eTe  xp
F(ep) x T(v7)/Teotal M2los/I
VALUE (eV) CL% EVTS DOCUMENT ID TECN COMMENT

e o o We do not use the following data for averages, fits, limits, etc. ® o @

<7.8 90 <598 UEHARA 08 BELL vy — xco — 2(7r+7r_)
F(K*K=at7™) x T(77)/Teotal lalgs/T
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

4.7 £0.5 OURFIT
4.42+0.42+0.53 780 + 74 UEHARA 08 BELL ~y — xop — KT K znta~

F(K"’ K‘1r+1r‘1r°) X r(w)/rm. Mslos/I
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

6.5+0.9+1.5 1250 DEL-AMO-SA..11M BABR ~vy —» Kt K=zt 7= 70
I (K*(892)°K*(892)°) x I'(77)/total lglos/I
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

1.26+0.24 OUR FIT
0.8 +£0.17+0.27 151 +£30 UEHARA 08 BELL ~y — X — KT K 7nta~

F(¢¢) x F(v7)/Teotal 20l o5/I

VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

0.60+0.05 OUR FIT

0.62+0.074+0.05 89 + 11 lLIU 128 BELL v — 2(KtK™)

e o o We do not use the following data for averages, fits, limits, etc. ® o @

0.58+0.1840.16 26.5+8.1  UEHARA 08 BELL ~vy— X — 2(KTK™)
1 Supersedes UEHARA 08. Using B(¢ - KT K™) = (48.9 &+ 0.5)%.

Mww) x T(Y7)/Ttotal 22Mo5/I

VALUE (eV) CL% DOCUMENT ID TECN COMMENT

e o o We do not use the following data for averages, fits, limits, etc. ® o @

<0.64 90 L 128 BELL ~y — 2(xT 7~ #0)
LUsing B(w — wt o~ 70) = (89.2 &+ 0.7)%.

Mwe) x F(v7)/Motal 245/l

VALUE (eV) CL% DOCUMENT ID TECN COMMENT

e o o We do not use the following data for averages, fits, limits, etc. @ o @
<0.04 90 T 12B BELL 4y — KTK - ata— 0
Lusing B(¢ = KT K™) = (48.9 £ 0.5)% and B(w —» =t 7~ #0) = (89.2 + 0.7)%.
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F(r7) x T(v7)/Ttotal l25Mo5/l
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

1.25+0.07 OUR FIT

1.18+0.25 OUR AVERAGE

14440544047 34413 L1 UEHARA 09 BELL 106 eTe™ — ete 7070
1.1440.2140.17 544+ 10 2NAKAZAWA 05 BELL 106ete™ — eTe nTn

Twe multiplied the measurement by 3 to convert from 7070 to wm. Interference with

the continuum included.
We have multiplied 7 7~ measurement by 3/2 to obtain 7.

I'(p°1r+ 7)) x T(v7)/Ttotal 2605/

VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

2.1+0.9 OUR FIT

3.2+1.94+0.5 986 + 578 UEHARA 08 BELL v — xep — 2(nt77)

F(nm) x T(v7)/ eotal 31005/l

VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

0.53:£0.2240.09 8 1 UEHARA 10A BELL 106ete™ — ete np
L interference with the continuum not included.

MKt K=) x T(v7)/Ttotal l32Mg5/I

VALUE (eV) EVTS DOCUMENT ID TECN COMMENT

0.56+0.04 OUR FIT
0.444+0.11+0.07 33 +8 NAKAZAWA 05 BELL 106ete™ — ete KT K™

F(K$KE) x T(v7)/Tiotal l33Mos/l
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT
0.294+0.025 OUR FIT
+0.07 1 0 40
0.27 T 06 +0.03 53 UEHARA 13 BELL vy —» K2K2
e o o We do not use the following data for averages, fits, limits, etc. @ o @
0.31 £0.05 £0.03 38=+7 CHEN 078 BELL eTe™ — ete xm
1Supelrsedes CHEN 078B.
KK+ 7~ +c.c.) x T(77)/Tiotal 42l g5/l
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT
0.72+0.11 OUR FIT
1.20+0.33+0.13 126 1 DEL-AMO-SA..11M BABR ~v — Kg KEaF
L We have multiplied KK 7 by 2/3 to obtain KOktr— +cc
F(KtK=KtK~) x T(77)/Total Ms1Mo5/T
VALUE (eV) EVTS DOCUMENT ID TECN COMMENT
0.93+0.11 OUR FIT
1.10£0.21+0.15 126 + 24 UEHARA 08 BELL vy — Xe — 2(KTK™)
F(nc(1S)7*7~) x F(v7)/Ttotal Toolos/T
VALUE (eV) CL% DOCUMENT ID TECN COMMENT
<15.7 9 LEES 12AE BABR ete™ — ete nTnn,

Xc2(1P) BRANCHING RATIOS
— HADRONIC DECAYS —

I (2(n* 7)) Miota ry/r
VALUE DOCUMENT ID

0.0102+0.0009 OUR FIT

r (p° atx~)/F(2(nt 7)) 26/
VALUE DOCUMENT ID TECN  COMMENT

0.361+0.15 OUR FIT
0.31+0.17 TANENBAUM 78 MRK1 %(25) = ~vxco
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F(1r+ x— 0 1r°) /Total r3/r
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
1.83+0.23+0.04 9035 THE 088 CLEO ete™ — yhTh=hOH0

LHE 08B reports 1.87 & 0.07 & 0.22 & 0.13 % from a measurement of [M(xe(1P) —
7T 77 71070) /Mol X [B(#(25) = ~xco(1P))] assuming B(4(25) = vxca(1P)) =
(9.330.14 +0.61) x 102, which we rescale to our best value B(1(2S) — TYXxc2(1P))

= (9.52 £ 0.20) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

M(pt 7~ 7%+ c.c.) /Tiotal Fa/T
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
2.194+0.34+0.05 10319 L2HE 088 CLEO ete™ — yhTh=h0n0

1 HE 08B reports 2.23 & 0.11 & 0.32 & 0.16 % from a measurement of [M(xeo(1P) —
pta—x04 c.c)/Tiotall % [B((2S) —  vxo(1P))] assuming B(¢(25) —
YX~(1P)) =(9.33+0.144+0.61 ><1072, which we rescale to our best value B(¢(2S) —

c2

X c2(1P)) = (9.52 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

2 Calculated by us. We have added the values from HE 08B for p+7r* 70 and p- a0
decays assuming uncorrelated statistical and fully correlated systematic uncertainties.

[ (47°) /T eotal Ms/T
VALUE (units 10*3) EVTS DOCUMENT ID TECN COMMENT
1.11+0.15+0.02 1164 L ABLIKIM 11A BES3 ete™ — 4(25) = vx

L ABLIKIM 11A reports (1.21£0.054+0.16) %1073 from a measurement of [M(xep(1P) —
47r0)/rt0ta|] x [B(¥(2S) — ’yxc2(1P))] assuming B(¢(2S) — '\/XC2(1P)) = (8.74+
0.35) x 102, which we rescale to our best value B(¥(2S) — vx2(1P)) = (9.52 £

0.20) x 1072, Our first error is their experiment’s error and our second error is the
systematic error from using our best value.

M(K* K= 7%70) /Total e/
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
0.206+0.040+0.004 76.9 THe 088 CLEO ete™ — ~hTh= HOKO

LHE 08B reports 0.21 + 0.03 = 0.03 + 0.01 % from a measurement of [M(xeo(1P) —
KT K™ 7070) /i iall X [B((2S) = 7xca(1P))] assuming B((25) = vxc2(1P))
= (9.33 & 0.14 £ 0.61) x 1072, which we rescale to our best value B(x(2S) —

TXe2(1P)) = (9.52 £ 0.20) x 10~2. Our first error is their experiment’s error and
our second error is the systematic error from using our best value.

F(K*7~K°n%+ c.c.) /Tiotal ry/T
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
1.384+0.19+0.03 2116 THe 088 CLEO ete™ — yhTh=h0n0

1HE o8B reports 1.41 + 0.11 + 0.16 & 0.10 % from a measurement of [[(x.5(1P) —

Kt KO0 c.c.)/Tiotall X [B(¥(25) — ~vx2(1P))] assuming B(¢(25) —

YX~(1P)) =(9.334+0.144+0.61 ><10_2, which we rescale to our best value B(¢(2S) —
c2

X c2(1P)) = (9.52 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

Mo~ K¥K%+c.c.)/Teotal g/l
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
0.41+0.12+0.01 62.9 THE 088 CLEO ete~ — yhTh=h0n0

1 HE 08B reports 0.42 & 0.11 = 0.06 & 0.03 % from a measurement of [M(xeo(1P) —
p~ KTKO4 c.c)/Tiotall X [B(®(2S) —  vx2(1P))] assuming B(4(2S) —
YXxe2(1P)) = (9.33i0.14i0.61)><1072, which we rescale to our best value B(¢(2S) —

TXc2(1P)) = (9.52 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

r(k*(892)° K~ 7+ = K~ at KO0+ c.c.) /Teotal o/l
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
0.29+0.08+0.01 38.7 THE 088 CLEO ete™ —

yhth= hO pO

L HE 08B reports 0.30 & 0.07 & 0.04 & 0.02 % from a measurement of [M(xe(1P) —
K*(892)0K—7t = K=t K970 4 cc)/Tiorall ¥ [B((25) = vxca(1P))] as-
suming B(¥(25) = 7xa(1P)) = (9.33 4 0.14 + 0.61) x 10~2, which we rescale to

our best value B(¥(2S) — vxp(1P)) = (9.52 & 0.20) x 102, Our first error is their
experiment’s error and our second error is the systematic error from using our best value.

3/12/2021 16:46 Page 7

NODE=MO057R46
NODE=MO057R46

NODE=MO057R46;LINKAGE=HE

NODE=MO057R47
NODE=MO057R47

NODE=MO057R47;LINKAGE=HE

NODE=M057R47;LINKAGE=0C

NODE=MO057R58
NODE=MO057R58

NODE=MO057R58;LINKAGE=AB

NODE=MO057R48
NODE=MO057R48

NODE=MO057R48;LINKAGE=HE

NODE=M057R50
NODE=MO057R50

NODE=MO057R50;LINKAGE=HE

NODE=M057R51
NODE=MO057R51

NODE=MO057R51;LINKAGE=HE

NODE=MO057R57
NODE=MO057R57

NODE=MO057R57;LINKAGE=HE



I (K*(892)°K%7% —» K+ 7~ K%n0+ c.c.)/Teotal o/l
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
0.38+0.09+0.01 63.0 THE 088 CLEO ete™ — yhTh=hOn0

1 HE 08B reports 0.39 & 0.07 & 0.05 & 0.03 % from a measurement of [M(xeo(1P) —
K*(892)0K070 — K+ 7= K970 4 c.c.) /Tyoarl X [B((25) = vxco(1P))] assum-
ing B(¥(2S) = vx2(1P)) = (9.33 £0.14 £ 0.61) x 102, which we rescale to our

best value B(¢/(25) — ~vx2(1P)) = (9.52 & 0.20) x 10=2. Qur first error is their
experiment’s error and our second error is the systematic error from using our best value.

r(k*(892)~ K* 7% = K+n~ K70+ c.c.) /Teotal M/l
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
0.37+0.08+0.01 51.1 THE 088 CLEO ete™ — yhTh=hOn0

L HE 08B reports 0.38 + 0.07 = 0.04 + 0.03 % from a measurement of [M(xc(1P) —
k*(892) " KT70 - Kta= K970+ cc)/Tioall X [B((2S) = vxea(1P))] as-
suming B(¥(25) = vx2(1P)) = (9.33 £ 0.14 & 0.61) x 1072, which we rescale to

our best value B(¥(2S) — vxp(1P)) = (9.52 & 0.20) x 10~2. Our first error is their
experiment’s error and our second error is the systematic error from using our best value.

r(k*(892)t K%z~ — K+ 7~ K°7%+c.c.) /Teotal M2/l
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
0.29+0.08+0.01 39.3 THE 088 CLEO ete™ — yhTh= hOH0

L HE 08B reports 0.30 & 0.07 & 0.04 & 0.02 % from a measurement of [M(xe2(1P) —
k*(892)TKO7™ = Kta~ K970+ cc)/Tiorall X [B((2S) = ~vxea(1P))] as-
suming B(¥(25) = vx2(1P)) = (9.33 £ 0.14 £ 0.61) x 102, which we rescale to

our best value B(¥(2S) — vxp(1P)) = (9.52 & 0.20) x 10~2. Our first error is their
experiment’s error and our second error is the systematic error from using our best value.

M(K* K= n7°) /Teotal M3/l
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
0.127+0.0444+0.003 22.9 1HE 088 CLEO ete™ — yhTh hOn0

LHE 08B reports 0.13 & 0.04 & 0.02 & 0.01 % from a measurement of [M(xe2(1P) —
KT K_nﬂo)/rtota” x [B(y(2S) — 'yxc2(1P))] assuming B(¢(25) — 'YXc2(1P)) =
(9.3340.14 +0.61) x 102, which we rescale to our best value B(1(2S) — TYXxc2(1P))

=(9.52 £ 0.20) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

I'(K"‘ K‘1r+1r')/l't°ta| I'14/I'

VALUE (units 10-3) DOCUMENT ID

8.41+0.9 OUR FIT

MK+t K=ot 7~ 79) /Tiotal s/l

VALUE (units 10’3) EVTS DOCUMENT ID TECN COMMENT

11.69+0.13+1.31 11k L ABLIKIM 138 BES3 ete™ — 9(25) = vxeo
1 Using 1.06 x 108 4(25) mesons and B(1(25) — xcp7) = (8.72 + 0.34)%.

MK KErFatn~) /Meotal Fi6/T

VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT

7.304+0.11+0.75 4.5k L ABLIKIM 138 BES3 efTe™ — %(25) = vxe
1 Using 1.06 x 108 ¢(25) mesons and B(¥(25) — xc7) = (8.72 + 0.34)%.

I‘(K+7*(892)°7r‘+c.c.)/I'(K"' K~ 1r+1r_) M7/T1a

VALUE DOCUMENT ID TECN COMMENT

0.25+0.13 OUR FIT

0.251+0.13 TANENBAUM 78 MRK1 %(25) — vXxc2

MK+t K*(892)° 7~ +c.c.) /Tiotal M7/T

VALUE (units 10~4) DOCUMENT ID

21+11 OURFIT

I (K*(892)°K*(892)°) /T sotal Mg/l

VALUE (units 10-3) DOCUMENT ID

2.3+0.4 OURFIT
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F3(rt 7)) /Miotal l19o/T

VALUE (units 1073) DOCUMENT ID TECN  COMMENT

8.6+1.8 OUR EVALUATION Treating systematic error as correlated.

8.61+1.8 OUR AVERAGE

8.6+0.9+1.6 L Bal 998 BES  9(25) = X2
8.7+59+04 1 TANENBAUM 78 MRK1 »(2S) — YXc2

LRescaled by us using B(1(2S) — YXc2)= (83 £ 0.4)% and B(¥(2S) —
J/¢p(1S)nT77) = (32.6 + 0.5)%. Multiplied by a factor of 2 to convert from
KOKtT7a~ to KOKT 7~ decay.

S
M(¢¢)/Ttotal l20/T
VALUE (units 10~3) DOCUMENT ID
1.06+0.09 OUR FIT
M(¢9n)/Teotal M1 /T
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
5.3+0.5+0.4 143.6 1 ABLIKIM 208 BES3 (25) — ~doén

1 ABLIKIM 208 reports (5.33£0.524+0.39) %10~% from a measurement of [M(xep(1P) —
b6n)/Tiotal] X [B(¥(25) = vx2(1P))] assuming B(¥(25) = vx2(1P)) = (9.52+
0.20) x 10~2.

F(ww)/ ltotal I-22/ r
VALUE (units 10’3) EVTS DOCUMENT ID TECN COMMENT

0.84+0.10 OUR AVERAGE

0.8240.104+0.02 762 L ABLIKIM 11K BES3 %(2S) — ~ hadrons
1.73+0.57+0.04 27.7+7.4 2 ABLIKIM 05N BES2 4(2S) = yxcp — 767

L ABLIKIM 11K reports (89+03+1.1)x 10~# from a measurement of [M(xe2(1P) —
ww)/rtotal] x [B(y(2S) — 'yxc2(1P))] assuming B(9(2S) — 'yxc2(1P)) = (8.74 £
0.35) x 102, which we rescale to our best value B(¢(25) — Yxc2(1P)) = (9.52 +
0.20) x 1072, Our first error is their experiment’s error and our second error is the
systematic error from using our best value.

2 ABLIKIM 05N reports [M(xe2(1P) = ww)/Tiorall X [B(2S) = vxo(1P))] =
(0.165 + 0.044 + 0.032) x 10~3 which we divide by our best value B(y(2S) —

TXxc2(1P)) = (9.52 + 0.20) x 10~2. Our first error is their experiment’s error and
our second error is the systematic error from using our best value.

MwK* K~)/Tiotal r23/T

VALUE (units 1073) EVTS DOCUMENT ID TECN COMMENT

0.73+0.04+0.08 512 1 ABLIKIM 138 BES3 ete™ — ¢(25) = vxe
L Using 1.06 x 108 (25) mesons and B(¥/(25) — xc07) = (8.72 £ 0.34)%.

I (wé)/Tiotal M24/T

VALUE (units 10_6) CL% EVTS DOCUMENT ID TECN COMMENT
9.6+2.7+0.2 33 1ABLIKIM 19) BES3 4(2S) — ~ hadrons

e o o We do not use the following data for averages, fits, limits, etc. ® o @

<18 90 2,3 ABLIKIM 11k BES3 (25) — ~ hadrons

L ABLIKIM 19, reports [r(xc2(1P) — wd))/rtota” X [B($(2S) — vx2(1P))] =
(0.91 4 0.23 £ 0.12) x 10~ © which we divide by our best value B()(25) — TYXxc2(1P))

= (9.52 £ 0.20) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

2 ABLIKIM 11K reports < 2 x 1072 from a measurement of [ (xo2(1P) = w¢)/Total]
X [B(1(2S) = vx2(1P))] assuming B(1)(2S) = vxo(1P)) = (8.7440.35) x 1072,
which we rescale to our best value B(¢(25) — vx2(1P)) = 9.52 x 102,

3 Superseded by ABLIKIM 19J.

|'(7r7r) /Ttotal l2s/T
VALUE (units 10~3) DOCUMENT ID

2.23+0.09 OUR FIT

r(po 1I'+ 11'-) /rtota| r26/r
VALUE (units 10~4) DOCUMENT ID

37+16 OUR FIT
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I (n+ n~ 0 (non-resonant)) /T otal a7/l
VALUE (units 10*5) EVTS DOCUMENT ID TECN COMMENT
2.01+0.42+0.04 64 1 ABLIKIM 17AG BES3  4(2S) — yrta—x0

L ABLIKIM 17AG reports (2.1 4 0.4 £ 0.2) x 102 from a measurement of [ (x o (1P) —
rtr— 7r0(non—resonant))/l’tota” x [B(¥(25) = vx2(1P))] assuming B(¥(25) —
TXxc2(1P)) = (9-11 £ 0.31) x 102, which we rescale to our best value B((2S) —

YXe2(1P)) = (9.52 £ 0.20) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

I (p(770)% 7F) /Teotal 2/l
VALUE (units 10*5) EVTS DOCUMENT ID TECN COMMENT
0.61+0.38+0.01 15 1 ABLIKIM 17AG BES3  %(2S) — yrt a0

LABLIKIM 17AG reports (0.64 + 0.39 £+ 0.07) x 107> from a measurement of
[M(xc2(1P) = p(770)E 7F) /Tigearl X [B((2S) = 7 xcp(1P))] assuming B(¥(2S) —
TXxc2(1P)) = (9-11 £ 0.31) x 102, which we rescale to our best value B(y(2S) —

YXe2(1P)) = (9.52 £ 0.20) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

I(7t 7~ 1) /Teotal 29/l

VALUE (units 10*3) CLY% DOCUMENT ID TECN COMMENT
0.48+0.130.01 L ATHAR 07 CLEO (25) — ~yhth= KO

e o o We do not use the following data for averages, fits, limits, etc. ® o @

<1.4 90 2 ABLIKIM 06R BES2 (25) = 7Xxc2

L ATHAR 07 reports (0.49 £0.12 £ 0.06) x 1073 from a measurement of [M(xc2(1P) —
777 n) Tiotall % [B($(25) = 7xc2(1P))] assuming B(4(25) = vx2(1P)) =
(9.33+0.14£0.61) x 10~2, which we rescale to our best value B(¥(25) = vx2(1P))

= (9.52 £ 0.20) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

2 ABLIKIM 06R reports < 1.7 x 103 from a measurement of [M(xeo(1P) — P n)/
rtota|] x [B(¢(2S) — 'yxcz(lP))] assuming B(9(2S) — 'yxc2(1P)) =(8.1+£0.4)x
102, which we rescale to our best value B(¥(25) — vx2(1P)) = 9.52 x 102,

F(at 7~ 1) /Meotal 30/l
VALUE (units 1073) DOCUMENT ID TECN COMMENT
0.50+0.18+0.01 L ATHAR 07 CLEO (2S) —» ~hTh— hO

L ATHAR 07 reports (0.51 +0.18 £ 0.06) x 10~3 from a measurement of [M(xcp(1P) —
777 0) [Tiotall X [B((25) = 7¥xp(1P))] assuming B(¥(25) = vxc2(1P)) =
(9.33+0.14+£0.61) x 10™2, which we rescale to our best value B((2S5) = vx2(1P))

= (9.52 £ 0.20) x 1072, Our first error is their experiment's error and our second error
is the systematic error from using our best value.

I (71)/Ttotal la1/T

VALUE (units 10~4) DOCUMENT ID
5.4+0.4 OUR FIT

F(K"‘ K-)/rtotal 32/l
VALUE (units 10~3) DOCUMENT ID
1.01+0.06 OUR FIT

M(KYK2)/Tiotal a3/l
VALUE (units 10~3) DOCUMENT ID
0.52+0.04 OUR FIT

r(KYKY)/r(nm) l33/l2s
VALUE DOCUMENT ID TECN COMMENT
0.235+0.019 OUR FIT

e o o We do not use the following data for averages, fits, limits, etc. ® o @
0.27 +0.07 +0.04 1.2 cHEN 078 BELL ete™ = ete xo

1 Using F(7r7r) X F(’yw)/rtotm from the 7T 7~ measurement of NAKAZAWA 05 rescaled
by 3/2 to convert to 7.

2 Not independent from other measurements.
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r(K$KS)/T(K+K™) l33/l32
VALUE DOCUMENT ID TECN COMMENT
0.52+0.05 OUR FIT

e o o We do not use the following data for averages, fits, limits, etc. @ o @
0.70£0.21+0.12 L2 CHEN 078 BELL ete™ — ete xo

1 Using F(K+ K_) X r(w)/rtota, from NAKAZAWA 05.
2 Not independent from other measurements.

I (K*(892)* KF) /T total a4/l
VALUE (units 10*4) DOCUMENT ID TECN COMMENT
1.44+40.21+0.03 1 ABLIKIM 17AG BES3  #(2S) — YKK~

e o o We do not use the following data for averages, fits, limits, etc. e o @

1.72£0.264+0.04 2 ABLIKIM 17AG BES3  ¢(25) —» yKT K~ #0
1.34£0.2740.03 3 ABLIKIM 17AG BES3  9(25) — 7K K+ T

L ABLIKIM 17AG reports (1.5£01+£0.2)x 10~% from a measurement of [M(xen(1P) —
K*(892)% KF) /Torall X [B(H(25) = ~xcp(1P))] assuming B(4(25) = x¢a(1P))
= (9.11 £ 0.31) x 102, which we rescale to our best value B(¥(25) = vx2(1P))

=(9.52 £ 0.20) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

2 ABLIKIM 17AG reports (1.8 4 0.2 £ 0.2) X 104 from a measurement of [M(xe(1P) —
K*(892)i KF) /Tiotall % [B(¥(25) = vx2(1P))] assuming B(1/(2S) = vx o (1P))
= (9.11 = 0.31) x 10~ 2, which we rescale to our best value B()(2S5) — TYXe2(1P))
= (9.52 £ 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

3 ABLIKIM 17AG reports (1.44+0.2+£0.2) x 10~ from a measurement of [M(xe2(1P) —
K*(892)i KF) /T otall X [B(¥(2S) = vx2(1P))] assuming B(1/(2S) — vx o (1P))
= (9.11 £ 0.31) x 1072, which we rescale to our best value B((2S) = vx2(1P))

= (9.52 £ 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

(K*(892)°K%+c.c.) /Ttotal M35/l
VALUE (units 10*4) DOCUMENT ID TECN COMMENT
1.24:£0.27+0.03 L ABLIKIM 17A6 BES3  9(25) — 7KL KE T

L ABLIKIM 17AG reports (1.3£02+£0.2) x 10~% from a measurement of [M(xc2(1P) —
K*(892)0KO+ c.c.)/Teorall X [B(¥(25) = vxp(1P))] assuming B(u(25) —
TYXc2(1P)) = (911 £ 0.31) x 102, which we rescale to our best value B((2S) —

TXx2(1P)) = (9.52 £ 0.20) x 1072, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

I (K3(1430)* KF) /Total I3/l
VALUE (units 10_4) DOCUMENT ID TECN COMMENT
14.8+1.2+0.3 1 ABLIKIM 17AG BES3  4(2S) — yKKm

e o o We do not use the following data for averages, fits, limits, etc. @ o @

17.4+1.640.4 2 ABLIKIM 17A6 BES3  4(2S) — KT K= =0
13.041.5+0.3 3 ABLIKIM 17AG BES3  4(2S) — »yKCS’ KT T

LABLIKIM 17AG reports (155 £ 0.6 £ 1.2) x 10~# from a measurement of
[r(xcz(lP) — K§(1430)iK:F)/Ftota|] x [B(¥(2S) — 7XC2(1P))] assuming
B(¥(2S) = vx2(1P)) = (9.11 £ 0.31) x 1072, which we rescale to our best value

B(1(2S) = vx2(1P)) = (9.52 £ 0.20) x 102. Our first error is their experiment's
error and our second error is the systematic error from using our best value.

2ABLIKIM 17AG reports (182 £ 0.8 £ 1.6) x 10~% from a measurement of
[F(XC2(1P) — K§(1430)iK:F)/Ftota|] x [B(¥(2S) — 'yxcz(lP))] assuming
B(¥(2S) = vx2(1P)) = (9.11 £ 0.31) x 1072, which we rescale to our best value

B(1(2S) — vx2(1P)) = (9.52 £ 0.20) x 102. Our first error is their experiment's
error and our second error is the systematic error from using our best value.

3ABLIKIM 17AG reports (136 £ 0.8 £ 1.4) x 10~% from a measurement of
[F(XC2(1P) — K§(1430)iK:F)/Ftota|] x [B(¥(2S) — 'yxcz(lP))] assuming
B(¥(2S) = vx2(1P)) = (9.11 £ 0.31) x 1072, which we rescale to our best value

B((2S) — vx2(1P)) = (9.52 £ 0.20) x 10~2. Our first error is their experiment’s
error and our second error is the systematic error from using our best value.
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I (K3(1430)°K°+c.c.) /Ttotal a7/l
VALUE (units 1074) DOCUMENT ID TECN COMMENT
12.4+1.740.3 L ABLIKIM 17A6 BES3  9(25) — YKL KE T

L ABLIKIM 17AG reports (13.0+1.0+£1.5)x 10~# from a measurement of [M(xe2(1P) —
K§(1430)0?0+ c.c.)/Tiotall X [B(®(25) = vx2(1P))] assuming B(4(2S) —
TYX2(1P)) = (9-11 &£ 0.31) x 102, which we rescale to our best value B(¢(2S) —

TXc2(1P)) = (9.52 £ 0.20) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

I (K3(1780)% KF) /Total g/l
VALUE (units 10_4) DOCUMENT ID TECN COMMENT
5.2:40.8+0.1 1 ABLIKIM 17AG BES3  4(25) - yKK=

e o o We do not use the following data for averages, fits, limits, etc. @ o @

5.1+1.040.1 2 ABLIKIM 17A6 BES3  4(2S) — vKT K= =0
5.641.840.1 3 ABLIKIM 17AG BES3  4(2S) — »yK(S’ KT T

LABLIKIM 17AG reports (54 £ 05 £ 0.7) X 10~% from a measurement of
[r(xcz(lP) — K§(1780)i K:F)/rtotall x [B(¥(2S) — 7XC2(1P))] assuming
B(¥(2S) = vx2(1P)) = (9.11 £ 0.31) x 1072, which we rescale to our best value
B((2S) = vx2(1P)) = (9.52 £ 0.20) x 102, Our first error is their experiment’s
error and our second error is the systematic error from using our best value.

2ABLIKIM 17AG reports (5.3 £ 05 £ 0.9) x 10~% from a measurement of
[r(xcz(lP) — K§(1780)i K:F)/rtotall x [B(¥(2S) — 7XC2(1P))] assuming
B(¥(2S) — vx2(1P)) = (9.11 £ 0.31) x 1072, which we rescale to our best value
B((2S) — vx2(1P)) = (9.52 £ 0.20) x 10~2. Our first error is their experiment’s
error and our second error is the systematic error from using our best value.

3ABLIKIM 17AG reports (59 £ 11 £ 15) x 10~% from a measurement of
[r(xcz(lP) — K§(1780)i K:F)/rtotall X [B(¥(2S) — 7XC2(1P))] assuming
B(¥(2S) = vx2(1P)) = (9.11 £ 0.31) x 1072, which we rescale to our best value

B((2S) — vx2(1P)) = (9.52 £ 0.20) x 10~2. Our first error is their experiment's
error and our second error is the systematic error from using our best value.

I (K3(1780)°K°+c.c.)/Ttotal 39/l
VALUE (units 1074) DOCUMENT ID TECN COMMENT
5.6+2.140.1 1 ABLIKIM 17AG BES3  ¢(25) — yKE K+

L ABLIKIM 17AG reports (59+1.6£1.5)x 10~% from a measurement of [M(xe2(1P) —
K§(1780)0W0+ c.c.)/Tiotall X [B(¥(25) — ~vx2(1P))] assuming B(1(2S) —
YXc2(1P)) = (9-11 £ 0.31) x 102, which we rescale to our best value B(¢(2S) —

TXx2(1P)) = (9.52 £ 0.20) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

r(32(1320)° 7"0)/ ltotal Fa0/T
VALUE (units 1074) DOCUMENT ID TECN COMMENT
12.9+3.4+0.3 1 ABLIKIM 17AG BES3  %(2S) = yKT k=0

L ABLIKIM 17AG reports (13.5 4 1.6 = 3.2) x 104 from a measurement of [M(xe(1P) —
a5(1320)970) /M oiail X [B(¥(2S) = vxco(1P))] assuming B(4(2S) = vxc2(1P))
= (9.11 = 0.31) x 10~ 2, which we rescale to our best value B()(25) — TYXe2(1P))

= (9.52 £ 0.20) x 10=2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

M (a2(1320)* 7F) /Tiora) Fa1/T
VALUE (units 1074) DOCUMENT ID TECN COMMENT
17.6+6.1+0.4 1 ABLIKIM 17A6 BES3  4(2S) — 7KL KE T

L ABLIKIM 17AG reports (18.4 + 3.3 4 5.5) x 10~# from a measurement of [ (xo(1P) —
ap(1320)F 7F) /Tyopal] X [B((2S) = vxcp(1P))] assuming B(¥:(25) = vx2(1P))
= (9.11 £ 0.31) x 102, which we rescale to our best value B(4(25) = vx2(1P))

= (9.52 £ 0.20) x 1072, Our first error is their experiment's error and our second error
is the systematic error from using our best value.
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r(KtK- Wo)/rtotal a3/l
VALUE (units 1073) DOCUMENT ID TECN COMMENT
0.30+0.08+0.01 L ATHAR 07 CLEO (2S) —» ~hTh—hO

L ATHAR 07 reports (0.31 £ 0.07 £ 0.04) x 10~3 from a measurement of [M(xeo(1P) —
KT K~ 7r0)/l'tot3|] x [B(¥(25) = vx2(1P))] assuming B(¥(25) — vx»(1P)) =
(9.33+0.14+£0.61) x 10~2, which we rescale to our best value B((2S) = vx2(1P))

= (9.52 £ 0.20) x 1072, Our first error is their experiment's error and our second error
is the systematic error from using our best value.

F(K*K=1)/Ttotal laa/T
VALUE (units 10*3) CL% DOCUMENT ID TECN COMMENT
<0.32 90 L ATHAR 07 CLEO (25) — ~yhth= KO

L ATHAR 07 reports < 0.33 x 10~3 from a measurement of [[(xo(1P) = Kt K~ n)/
rtota|] x [B(¥(2S5) — 'yxc2(1P))] assuming B(y(2S) — 'yxcz(lP)) = (9.33 +
0.14 + 0.61) x 10~ 2, which we rescale to our best value B(¢/(25) — YX2(1P)) =
9.52 x 1072,

F(K+ K~ 1/(958)) /Teotal Fas/T
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
1.94:+0.34 107 1 ABLIKIM 14) BES3 (25) - KT K~ 1/(958)

1 Derived using.B(w(2S.) - YXe2) = (8.7.2:t0.34)%. Uncertainty includes both statistical
and systematic contributions combined in quadrature.

/
r(TI"I )/rtotal r46/r
VALUE (units 1075) CL% EVTS DOCUMENT ID TECN COMMENT
2.17+0.47+0.05 20 1 ABLIKIM 17A1 BES3  ¢(2S) — ~n'n
e o o We do not use the following data for averages, fits, limits, etc. ® o @
<6 90 3.348.0 2 ASNER 09 CLEO (2S) — ~nu'
<23 90 3 ADAMS 07 CLEO (25) = vXxc2

L ABLIKIM 17AI reports (2.270.43+0.25) x 102 from a measurement of [I"(x o (1P) —
11') /Tiotall X [B($(25) = 7¥x2(1P))] assuming B(1(25) = vx2(1P)) = (9.11+
0.31) x 102, which we rescale to our best value B(¥(2S) — vx2(1P)) = (9.52 £
0.20) x 10=2. Our first error is their experiment’s error and our second error is the
systematic error from using our best value.

2 ASNER 09 reports < 0.6 x 10~% from a measurement of M (xe2(1P) = 17') /Tiorall X
[B(¥(2S) = vxc2(1P))] assuming B(¥(2S) = vxp(1P)) = (9.33 £0.14 £ 0.61) x
102, which we rescale to our best value B(¥(25) — vxo(1P)) = 9.52 x 102,

3Superseded by ASNER 09. ADAMS 07 reports < 2.3 X 10~4 from a measurement
of [F(XC (1P) — nn/)/rtota” x [B(¥(2S) — 7X62(1P))] assuming B(¢(2S) —
YX2(1P)) = 0.0933 4 0.0014 £ 0.0061, which we rescale to our best value B((2S) —
Yxe2(1P)) = 9.52 x 102

/!
F(7' ') /Tiotal Fa7/T
VALUE (units 10_5) CL% EVTS DOCUMENT ID TECN COMMENT
4.6+0.610.1 60 1 ABLIKIM 17A1 BES3  4(2S) — ~n'7n/
e e o \We do not use the following data for averages, fits, limits, etc. ® o @
<10 90 12+7 2 ASNER 09 CLEO o(2S) — ~vn'7/
<30 90 3 ADAMS 07 CLEO #(25) = vXe2

L ABLIKIM 17Ai reports (4.76+0.56 +0.38) x 10> from a measurement of [I"(x o (1P) —
') /Tiotall % [B(¥(25) = vxc2(1P))] assuming B(4(25) = vx2(1P)) = (9.11 £
0.31) x 1072, which we rescale to our best value B(¥(2S) — vx2(1P)) = (9.52 £

0.20) x 1072, OQur first error is their experiment’s error and our second error is the
systematic error from using our best value.

2 ASNER 09 reports < 1.0 x 10~% from a measurement of [M(xco(1P) — n/n')/rto all
% [B(¥(25) = vXcp(1P))] assuming B(15(2S) — 7xcn(1P)) = (9.330.14 +0.61)

10~2, which we rescale to our best value B((2S) — vx2(1P)) = 9.52 x 102,
3Supelrseded by ASNER 09. ADAMS 07 reports < 3.1 x 10~% from a measurement

of [r(X¢2(1P) — n,n,)/rtotal] x [B((2S) — "/Xc2(1P))] assuming B(¥(2S) —
7YX 2(1P)) = 0.0933 4 0.0014 £ 0.0061, which we rescale to our best value B(%(2S) —

YXea(1P)) = 9.52 x 1072,
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I+ 7~ KYK)/Tiotal lag/T
VALUE (units 10*3) EVTS DOCUMENT ID TECN COMMENT
2.17+0.544-0.05 57 £+ 11 1 ABLIKIM 050 BES2  #(25) = vxco

LABLIKIM 050 reports [[(xcp(1P) — nta~ KIKL)/Tigrall x [B((2S) —
YXxe2(1P))] = (0.207 & 0.039 + 0.033) x 10~3 which we divide by our best value

B(1(2S) — vx2(1P)) = (9.52 £ 0.20) x 10~2. Qur first error is their experiment’s
error and our second error is the systematic error from using our best value.

M(K+ K~ K KS) Teotal Fao/T
VALUE (units 1074) CL% EVTS DOCUMENT ID TECN COMMENT
<4 90 23+22 L ABLIKIM 050 BES2 ete™ — xoov

LABLIKIM 050 reports [[(xcp(1P) — KTKTKLIKL)/Tiga]l x [B(¥(2S) —
TYXxe2(1P))] < 3.5 102 which we divide by our best value B(1/(2S5) — TYXe2(1P))

=952 x 1072
r(KOS Kg KOS Kg)/rtotal I'5o/l'
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT
1.13+0.1840.02 68 1 ABLIKIM 19AA BES3  4(2S) — 74Kg

Lusing B(KS — 71 77) = (69.20 + 0.05)%. ABLIKIM 19AA reports [ (xp(1P) —
KL KL KL KD) /Miorall X [B¥(2S) = vx2(1P))] = (10.8 + 1.5 + 0.8) x 10°
which we divide by our best value B(1)(2S) — vx2(1P)) = (9.52 £ 0.20) x 1072,
Our first error is their experiment’s error and our second error is the systematic error
from using our best value..

I'(K+K‘K+K‘)/I't°ta| I'51/I'
VALUE (units 10~3) DOCUMENT ID

1.65+0.20 OUR FIT

MKt K= ¢)/Total 52/l
VALUE (units 10=3) EVTS DOCUMENT ID TECN  COMMENT
1.4240.20+0.03 52 1ABLIKIM 06T BES2 1(2S) — ~v2K+T2K™

L ABLIKIM 06T reports (1.67 +0.26 +0.24) x 103 from a measurement of [I"(x o (1P) —
KT K™ ¢)/Tiotall X [B(¥(25) = 7xc2(1P))] assuming B(#(25) = vx2(1P)) =
(8.1 £0.4) x 1072, which we rescale to our best value B(¥(2S) = vxo(1P)) =

(9.52 + 0.20) x 10=2. Our first error is their experiment’s error and our second error is
the systematic error from using our best value.

F(R0K+1l'_¢+c.c.)/rtota| r53/r

VALUE (units 1073) DOCUMENT ID TECN COMMENT

4.83+0.32+0.66 ABLIKIM 15M BES3  %(25) = vxc2

MK+ K= 19¢) /Tiotal Msq/T

VALUE (units 1073) DOCUMENT ID TECN COMMENT

2.74+0.16+0.44 ABLIKIM 15M BES3  4(25) = vXc2

Montnx 1r°) /Total Iss/T

VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT

0.934+0.06+0.10 408 Ll ABLIKIM 138 BES3 eTe™ — ¥(25) = vxe
1 Using 1.06 x 108 4(25) mesons and B(¥:(25) — xcp7) = (8.72 + 0.34)%.

I (pP)/Ttotal Ms6/T

VALUE (units 10~%) DOCUMENT ID

0.73310.033 OUR FIT

I (pP7°)/Tgotal Is7/l

VALUE (units 1073) DOCUMENT ID TECN COMMENT

0.4740.04 OUR AVERAGE

0.4740.04+0.01 1 onyisl 10 CLE3 %(25) — vppX

0.43+0.094+0.01 2 ATHAR 07 CLEO (2S) — ~hTh—hO

3/12/2021 16:46 Page 14

NODE=MO057R31
NODE=MO057R31

NODE=M057R31;LINKAGE=AB

NODE=MO057R32
NODE=M057R32

NODE=MO057R32;LINKAGE=AB

NODE=MO057R9%4
NODE=M057R94

NODE=MO057R94;LINKAGE=A

NODE=MO057R18
NODE=MO057R18

NODE=M057R01
NODE=M057R01

NODE=MO057R01;LINKAGE=AB

NODE=MO057R79
NODE=MO057R79

NODE=M057R80
NODE=MO057R80

NODE=MO057R75
NODE=MO057R75

NODE=MO057R75;LINKAGE=A

NODE=MO057R12
NODE=M057R12

NODE=MO057R06
NODE=M057R06



LONYISI 10 reports (4.83 £ 0.25 £ 0.35 £ 0.31) x 10~# from a measurement of
[M(xep(1P) — pﬁﬂ'o)/rtota” X [B(¥(25) — vxc2(1P))] assuming B((2S) —
TYXe2(1P)) = (9.33:&0.14:|:0.61)><1072, which we rescale to our best value B(¢(2S) —
TXxc2(1P)) = (9.52 £ 0.20) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

2 ATHAR 07 reports (0.44 £ 0.08 £ 0.05) x 10~3 from a measurement of [M(xeo(1P) —
pP0) Miotall * BH(2S) = 7xep(1P))] assuming B(¥(2S) — 7xc2(1P)) =

. .14 . X <, which we rescale to our best value —
(9.334£0.14 £ 0.61) x 102, which [ best value B(1(25) — 7xcp(1P))

= (9.52 £ 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

I (pBn)/Ttotal Mss/T
VALUE (units 1073) DOCUMENT ID TECN COMMENT

0.174+0.025 OUR AVERAGE

0.17240.026+0.004 Lonvisi 10 CLE3 4(25) —» vppX
0.186+0.07040.004 2 ATHAR 07 CLEO (2S) —» ~hTh—hO

LONYISI 10 reports (1.76 + 0.23 + 0.14 + 0.11) x 10~% from a measurement of
[M(xc2(1P) = pPn)/Tiotall * [B((2S) = vxc2(1P))] assuming B(u(25) —
Yxe2(1P)) = (9.33i0.14i0.61)><10_2, which we rescale to our best value B(¢(2S) —
YXxc2(1P)) = (9.52 £ 0.20) x 1072, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

2 ATHAR 07 reports (0.19 £ 0.07 £ 0.02) x 10~3 from a measurement of [M(xc2(1P) —
PP1)/Tiotall X [B(¥(2S) = vx2(1P))] assuming B(1)(2S) — vx2(1P)) = (9.33 £
0.14 + 0.61) x 102, which we rescale to our best value B(¥(2S) = vx2(1P)) =

(9.52 + 0.20) x 102, Our first error is their experiment’s error and our second error is
the systematic error from using our best value.

I (pPw)/Ttotal s9/T
VALUE (units 10’3) DOCUMENT ID TECN COMMENT
0.36+0.04+0.01 1 onyisl 10 CLE3 %(2S) —» vppX

LONYISI 10 reports (3.68 + 0.35 + 0.26 &+ 0.24) x 10~ % from a measurement of
[F(XCZ(IP) — pﬁw)/rtotal] x [B((2S) — ’YXCQ(]-P))] assuming B(y(2S5) —
TYXxc2(1P)) = (9.33:i:0.14:|:0‘61)><10_2, which we rescale to our best value B(¢(2S) —

TXxe2(1P)) = (9.52 £ 0.20) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

F(pP®)/Miotal leo/T
VALUE (units 10_5) EVTS DOCUMENT ID TECN COMMENT
2.8+0.9+0.1 24+7  1ABLIKIM 11F BES3 (25) — yppKT K~

L ABLIKIM 11F reports (3.04+0.85+0.43) x 10> from a measurement of [M(xe(1P) —
PP®)/Tiotall X [B(1(25) = ¥x2(1P))] assuming B(¥(25) = 7x2(1P)) = (8.74+
0.35) x 10~2, which we rescale to our best value B(¥(2S) — vx2(1P)) = (9.52 £

0.20) x 1072, Our first error is their experiment's error and our second error is the
systematic error from using our best value.

M(pp7t 77) /Tiotal 61/l

VALUE (units 1073) DOCUMENT ID TECN COMMENT

1.3240.34 OUR EVALUATION Treating systematic error as correlated.

1.3 +0.4 OUR AVERAGE Error includes scale factor of 1.3.

1.1740.19+0.30 LAl 998 BES  ¢(25) = vxc2

2.64+1.03+0.14 1 TANENBAUM 78 MRK1 $(25) = 7xco

LRescaled by us using B(1(25) — TYXc2)= (83 £ 0.4)% and B(¥(2S) —

J/¢p(18)nT7~) = (32.6 + 0.5)%. Multiplied by a factor of 2 to convert from
K% KT7~ to KOKT 72— decay.

I (ppm070) /Teotal 62/
VALUE (%) EVTS DOCUMENT ID TECN COMMENT
0.078+0.023+0.002 29.2 THE 088 CLEO ete™ — yhTh=hOp0
1 HE 08B reports 0.08 & 0.02 & 0.01 & 0.01 % from a measurement of [M(xe(1P) —
ppr070) /Tiotall x [B(1(2S) = 7x2(1P))] assuming B(1(2S) — vx2(1P)) =
(9.33+0.14 £ 0.61) x 10~2, which we rescale to our best value B(¥(25) = vx2(1P))

= (9.52 £ 0.20) x 10~2. Our first error is their experiment’s error and our second error
is the systematic error from using our best value.
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M(pPK* K~ (non-resonant)) /Ttotal 63/l
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
1.9140.3240.04 131+12 1 ABLIKIM 11F BES3 (2S) — ~vppK+t K~
L ABLIKIM 11F reports (2.08 0.19+0.30) x 10~ from a measurement of [I'(xco(1P) —
pPKT K~ (non-resonant)) /Tioea1] X [B(¥(2S) = vXc2(1P))] assuming B(y(2S) —
TXxc2(1P)) = (8.74 £ 0.35) x 102, which we rescale to our best value B(y(2S) —

YXe2(1P)) = (9.52 £ 0.20) x 102, Our first error is their experiment's error and our
second error is the systematic error from using our best value.

I (PPKEKS)/Trotal lea/T
VALUE (units 1074) CL% DOCUMENT ID TECN COMMENT

<7.9 90 1 ABLIKIM 06D BES2 4(2S) = X7

Lusing B((2S) = xc27) = (9.3 £ 0.6)%.

F(pAin™)/Teotal Fes/T
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT

8.51+0.9 OUR AVERAGE

8.4+1.04+0.2 3309 1 ABLIKIM 12) BES3 (2S) — ypAn—
10.2:£3.440.2 2 ABLIKIM 061 BES2 (2S) = vypr— X

L ABLIKIM 123 reports [M(xe2(1P) = pAT ™) /Tiorall X [B(1(2S) = vxo(1P))] =
(0.80 £ 0.02 £ 0.09) x 10~% which we divide by our best value B(1(2S) — TYXxc2(1P))

= (9.52 £ 0.20) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

2 ABLIKIM 061 reports [M(xeo(IP) = pAT ™) /Tiotall X [B(2S) = vxo(1P))] =
(0.97 £ 0.20 £ 0.26) x 10~% which we divide by our best value B(¥(2S) = vx2(1P))

=(9.52 £ 0.20) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

Fr(enmt)/Miotal lFe6/T
VALUE (units 10*4) EVTS DOCUMENT ID TECN COMMENT
8.940.8+0.2 3732 1 ABLIKIM 12) BES3 4(2S) —» ~ypnrt

L ABLIKIM 12J reports [F(xe(1P) — ﬁn7r+)/rtota|] x [B(¥(2S) = vx2(1P))] =
(0.85 £0.02 £ 0.07) x 10~% which we divide by our best value B(¥(2S) = vx2(1P))

= (9.52 £ 0.20) x 1072, Our first error is their experiment's error and our second error
is the systematic error from using our best value.

I (pAir~70) /Feotal o7/l
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
21.7+1.740.5 2128 1 ABLIKIM 12) BES3 (2S) — ypAr— a0

LABLIKIM 125 reports [ (xp(1P) = piim— 70) /Tiorall X [B(¥(2S) = vxp(1P))] =
(2.07 £0.06 £+ 0.15) x 10—% which we divide by our best value B((2S) = vx2(1P))

= (9.52 £ 0.20) x 1072, Our first error is their experiment's error and our second error
is the systematic error from using our best value.

F(Enr+n°) /Motal les/T
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
21.1+1.840.4 2352 1 ABLIKIM 12) BES3 (2S) — ypnrt a0

L ABLIKIM 125 reports [I(xcp(1P) = Bnmt a0) /Tyrarl X [B(¥(2S) = vxc2(1P))] =
(2.01 + 0.06 + 0.16) x 10~% which we divide by our best value B(4/(25) = 7 x2(1P))

= (9.52 £ 0.20) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

I (AA) /Total leo/T
VALUE (units 10~4) DOCUMENT ID
1.84140.15 OUR FIT

I (AA7+ 77) [Tiotal M70/T
VALUE (units 10_5) CL% EVTS DOCUMENT ID TECN COMMENT
125+15+3 371 1 ABLIKIM 121 BES3 (2S) = yAAxTx—

e e o We do not use the following data for averages, fits, limits, etc. ® o @

<350 ) 2 ABLIKIM 06D BES2 (25) = xco7
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L ABLIKIM 12I reports (137.0£7.6+15.7) x 105 from a measurement of [M(xe(1P) —
Azt 77 ) /Trotall X [B(¥(25) = vx2(1P))] assuming B(1/(25) — ~vxo(1P)) =
(8.72 £ 0.34) x 1072, which we rescale to our best value B(¥(2S) — vx2(1P)) =

(9.52 + 0.20) x 10=2. Our first error is their experiment’s error and our second error is
the systematic error from using our best value.

2Using B(¥(25) — xc27) = (9.3 £ 0.6)%.

I (AA7* 7~ (non-resonant)) /T otal M7/l
VALUE (units 10_5) EVTS DOCUMENT ID TECN COMMENT
66+15:+1 36 LABLIKIM 121 BES3 (2S) » vAAxta—

L ABLIKIM 121 reports (71.8 4 14.5 4 8.2) x 10> from a measurement of [F(xe2(1P) —
AAxtr— (non-resonant)) /Tioia1] X [B(¥(25) = vx2(1P))] assuming B(¢)(25)
YXc2(1P)) = (8.72 £ 0.34) x 102, which we rescale to our best value B((2S)

TXc2(1P)) = (9.52 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

—
—

r(xX(1385)* Ar~ +c.c.) /Teotal 72/T
VALUE (units 1075 CL% DOCUMENT ID TECN  COMMENT
<40 90 1 ABLIKIM 121 BES3 ¢(25) — ~X(1385)T Arx—

LABLIKIM 121 reports < 42 x 1072 from a measurement of [[(xoo(1P) —
$(1385) T An™ + c.c.)/Tiorall % [B(¥(2S) — vxo(1P))] assuming B(4(2S) —
TYXxc2(1P)) = (8.72 & 0.34) x 102, which we rescale to our best value B((2S) —
YXe2(1P)) = 9.52 x 102,

r(x(1385)~ Ant +c.c.)/Teotal 73/l
VALUE (units 10~3 CL% DOCUMENT ID TECN COMMENT
<60 90 1 ABLIKIM 121 BES3 ¢(25) - ~vX(1385)" Axt

LABLIKIM 121 reports < 61 x 107> from a measurement of [M(xe2(1P) —
T(1385) " An T+ c.c)/Tiorall X [B(¥(2S) = vXco(1P))] assuming B(4(2S) —
TXxc2(1P)) = (8.72 4 0.34) x 102, which we rescale to our best value B(y(2S) —
YXep(1P)) = 9.52 x 1072,

r(K+ﬁA + C.C.) /Ttotal F74/T
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT

7.8+0.5 OUR AVERAGE

7.7+£05+0.2 sk 1.2 ABLIKIM 13D BES3 (2S) — yApK™T
8.3+£1.6+0.2 3 ATHAR 07 CLEO (25) — ~yhth= KO

L ABLIKIM 13D reports (8.4+0.34+0.6)x 10~# from a measurement of [F(xe2(1P) —
KTpA + c.c.)/Totall X [B(¥(2S) = ~vxp(1P))] assuming B(1(2S) = vx2(1P))
= (8.72 = 0.34) x 10~ 2, which we rescale to our best value B()(25) — TYXxc2(1P))
= (9.52 £ 0.20) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

2Using B(A — pm~) = 63.9%.

3 ATHAR 07 reports (85 £1.4+1.0) x 10~ from a measurement of [M(xe2(1P) —
KTBA + c.c.)/Tiotall X [B(¥(2S) = vx2(1P))] assuming B(1/(2S) — vx2(1P))
= (9.33 £ 0.14 £+ 0.61) x 1072, which we rescale to our best value B(y(2S) —

TXx2(1P)) = (9-52 £ 0.20) x 10~2. Our first error is their experiment’s error and
our second error is the systematic error from using our best value.

(K*(892)* pA+c.c.)/Tiotal 75/l
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
8.2+1.1+0.2 476 1 ABLIKIM 19AU BES3  %(25) = vK*tpA

L ABLIKIM 19AU reports [M(xco(1P) — K*(892)T pA+ c.c.)/Tiotall X [B(%(2S) —
YXc2(1P))] = (7.8 £0.9+£0.6) x 10~5 which we divide by our best value B((2S) —

TXc2(1P)) = (9.52 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

I(K+PA(1520)+ c.c.) /Teotal M76/T
VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
2.840.7+0.1 79 £ 13 1 ABLIKIM 11F BES3 ¢(2S) — yppKT K™
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L ABLIKIM 11F reports (3.06+0.50+0.54) x 10~ from a measurement of [M(xeo(1P) —
KT BA(1520)+ c.c.)/Tiorall X [B(¥(2S) —  vxco(1P))] assuming B(w(2S) —
TXxc2(1P)) = (8.74 £ 0.35) x 102, which we rescale to our best value B(y(2S) —

YXc2(1P)) = (9.52 £ 0.20) x 1072, Our first error is their experiment'’s error and our
second error is the systematic error from using our best value.

I (A(1520) A(1520)) /T sotal F7/T
VALUE (units 10*4) EVTS DOCUMENT ID TECN COMMENT
4.6+1.440.1 29+ 7 1 ABLIKIM 11F BES3 (25) —» ~vppKt K~

LABLIKIM 11F reports (5.05 £ 1.29 £ 0.93) x 10~% from a measurement of
[r(xcz(lP) — A(1520)A(1520))/rt0ta|] x [B((2S) — 'yxc2(lP))] assuming
B(¥(2S) = vx2(1P)) = (8.74 £ 0.35) x 1072, which we rescale to our best value

B(1(2S) — vx2(1P)) = (9.52 £ 0.20) x 10~2. Our first error is their experiment's
error and our second error is the systematic error from using our best value.

0
M(X9%0) /T iotal I7g/T
VALUE (units 10_5) CL% EVTS DOCUMENT ID TECN COMMENT
3.740.6+0.1 01 1 ABLIKIM 18V BES3 (2S) —» yx0%0
e o o We do not use the following data for averages, fits, limits, etc. ® o @
<6 90 2 ABLIKIM 134 BES3 (2S) » x0%0

<7 90 75434  3NAIK 08 CLEO (25) —» ~x0%0
L ABLIKIM 18V reports [I(xcp(1P) — E9T0) /Iy il X [B(¥(25) = vxeo(1P))] =
(0.35+0.05 + 0.02) x 10~ which we divide by our best value B((2S) = vx2(1P))

= (9.52 £ 0.20) x 1072, Our first error is their experiment's error and our second error
is the systematic error from using our best value.

2 ABLIKIM 13H reports < 0.65 x 104 from a measurement of [ (xo(1P) — £0%0)/
Tiotall X [B(¥(2S) = vx2(1P))] assuming B(1)(25) — vx2(1P)) = (8.74+£0.35) x
102, which we rescale to our best value B(¥(2S) — vx2(1P)) = 9.52 x 102,

3 NAIK 08 reports < 0.75 x 10~# from a measurement of [ (x o (1P) — 0=0)/ry 1]
X [B(¥(2S5) = vx2(1P))] assuming B(1)(2S) — vx2(1P)) = (9.33£0.1440.61) x
1072, which we rescale to our best value B((2S) — vx2(1P)) = 9.52 x 1072,

r(}_""f—)/rm. rgl/r

VALUE (units 1075) CLY% EVTS DOCUMENT ID TECN COMMENT
3.440.7£0.1 55 1 ABLIKIM 18v BES3 (25) —» yXtX—

e o o \We do not use the following data for averages, fits, limits, etc. e o @

<8 90 2 ABLIKIM 134 BES3 (25) » yXt+tX—

<7 90 40+35  3NAK 08 CLEO (25) » ~vXtx—

L ABLIKIM 18V reports [M(xe(1P) — ):+f—)/rtota|] X [B(¥(2S) = vx2(1P))] =
(0.32 £ 0.06 £ 0.03) x 10> which we divide by our best value B(4(25) — TYXxc2(1P))
= (9.52 £ 0.20) x 10~2. Our first error is their experiment's error and our second error
is the systematic error from using our best value.

2 ABLIKIM 13H reports < 0.88 x 10~# from a measurement of [[(xp(1P) = ETE7)/
Miotall X [B(¥(2S) = vx2(1P))] assuming B(¥(2S) — vx2(1P)) = (8.74£0.35) x
102, which we rescale to our best value B(4(25) = vx2(1P)) = 9.52 x 102,

3NAIK 08 reports < 0.67 x 10~%4 from a measurement of [M(xep(1P) —» =ZTE7)/
rtota|] x [B(¥(2S5) — 'yXCZ(IP))] assuming B(y(2S) — 'yxcz(lP)) = (9.33 +
0.14 + 0.61) x 102, which we rescale to our best value B(¥(2S) = vx2(1P)) =
9.52 x 1072,

M(Z=I) /Meotal g2/l
VALUE (units 1075) EVTS DOCUMENT ID TECN COMMENT
44417405 131 L ABLIKIM 201 BES3 (25) » yE— =+

L ABLIKIM 201 reports (4.4 + 1.7 % 0.5) x 10~ from a measurement of [I"(xcp(1P) —
) =

fo+)/rtota|] x [B(¥(2S) — ’YXc2(1P))] assuming B(y(2S) — 'yxc2(1P)
(9.52 + 0.20) x 1072,

I (X(1385)+ =(1385) ) /T total Fg3/T
VALUE (units 10~° CL% DOCUMENT ID TECN COMMENT
<16 90  LlABLIKIM 121 BES3 (2S) — ~X(1385)" £(1385)~
LABLIKIM 121 reports < 17 x 107> from a measurement of [M(xeo(1P) —
Z(l385)+f(1385)_)/rtota|] x [B(¥(2S) — vxc2(1P))] assuming B(¥(2S) —
TXc2(1P)) = (8.72 4+ 0.34) x 102, which we rescale to our best value B(y(2S) —
Yxe2(1P)) = 9.52 x 102
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I(X(1385)~ X(1385)*) /Ttotal g/l
VALUE (units 10*5) % DOCUMENT ID TECN COMMENT
<8 90 LABLIKIM 121 BES3 (2S) — ~X(1385)~ X(1385)%

LABLIKIM 121 reports < 85 x 1072 from a measurement of [[(xco(1P) —
(1385) 7 2(1385) 1) /Tiorall X [B(¥(2S) —  vxeo(1P))] assuming B((2S) —
TXxc2(1P)) = (8.72 &+ 0.34) x 102, which we rescale to our best value B((2S) —
YXea(1P)) = 9.52 x 1072,

MK~ A=+ +c.c.)/Tiotal lgs/I
VALUE (units 10*4) EVTS DOCUMENT ID TECN COMMENT
1.76+0.3240.04 51 L ABLIKIM 151 BES3 (25) » yK— A=t + cc.

LABLIKIM 151 reports [F(xe2(1P) — K= A=t 4+ c.c.)/Tiotall X [B((2S) —
YXc2(1P))] = (1.68£0.26 +0.15) x 1075 which we divide by our best value B(y(2S) —

TXxc2(1P)) = (9.52 £ 0.20) x 10~2. Our first error is their experiment's error and our
second error is the systematic error from using our best value.

(2°0) /M aota Fas/T
VALUE (units 1074) CLY% EVTS DOCUMENT ID TECN COMMENT
<1.0 90 29+17  lnAaK 08 CLEO w(zs) — 4Z0=0
L NAIK 08 reports < 1.06 x 104 from a measurement of [M(xeo(1P) )/F all
x [B(¥(25) = vx2(1P))] assuming B(1)(25) — vx2( IP% (9. 33:t0 144061y
102, which we rescale to our best value B(¥(25) = vx2(1P)) = 9.52 x 102,
[(E~Z)/Niotal Fe7/T
VALUE (units 10_4) CL% EVTS DOCUMENT ID TECN COMMENT
1.42+0.3140.03 29+5  1INAIKK 08 CLEO (25) — ~=+t=—
e o o \We do not use the following data for averages, fits, limits, etc. e o @
<37 90 2 ABLIKIM 06D BES2 (25) = Xco7

I NAIK 08 reports (1.45 + 0.30 & 0.15) x 104 from a measurement of [M(xe(1P) —
=5 Miomall ¥ [BWS) > 7xca(1P))] assuming B¥(25) = ~xca(1P)) =
(9.330.14 +0.61) x 102, which we rescale to our best value B(1(2S) — TYXc2(1P))

= (9.52 £ 0.20) x 102, Our first error is their experiment’s error and our second error
is the systematic error from using our best value.

2Using B(¥(25) = xc27) = (9.3 + 0.6)%.

r(J/¢@S)rtn— ‘ﬂ'o)/ Mtotal lgg/l

VALUE ClL% DOCUMENT ID TECN COMMENT

<0.015 90 BARATE 81 SPEC 190 GeV 7~ Be — 272

0

r(1r nc)/rtotal go/T

VALUE CL% DOCUMENT ID TECN COMMENT

<32x10~3 90 L ABLIKIM 15N BES3 4(2S)ete™ — yn0n,
Lusing B(n, - KL KErT)xB(KE —» 777 )xB(r0 - v7) = (1.66£0.11)x102.

F(nc(1S) 7t ™) /Teotal oo/

VALUE ClL% DOCUMENT ID TECN COMMENT

<054x10~2 90 L2 ABLIKIM 138 BES3 ete™ — 9(25) = vxeo

e o o \We do not use the following data for averages, fits, limits, etc. ® o @

<12 x1072 90 L3 ABLIKIM 138 BES3 ete™ — 4(25) = vxo

1Using 1.06 x 108 ¥(2S) mesons and B(1)(2S) — xp7) = (8.72 £ 0.34)%.
2 From the Ne = K% KT T decays.
3 From the Ne — KT k=0 decays.

r(nc(1$)1r+1r—)/r(K0K+1r—+C.C.) Fgo/l42
VALUE CL% DOCUMENT ID TECN  COMMENT
<16.4 90 L LEES 12AE BABR ete™ — ete ntny,

1 We divided the reported limit by 2 to take into account the KE Kt 7~ mode.
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— RADIATIVE DECAYS ——
M(vJ/%(1S)) /Teotal Fo1/T

VALUE (units 10-2)  EVTS DOCUMENT ID TECN  COMMENT
19.0 £0.5 OURFIT

e o o We do not use the following data for averages, fits, limits, etc. @ o @

18.64+0.08+1.69 1.0M L ABLIKIM 17U BES3 ete  — v X

19.9 +05 +1.2 2 ADAM 05A CLEO eTe™ — 4(25) = vxco
INot independent from B( #(2S) — vx2(1P)) and the product B( %(2S5) —
YX2(1P)) x B( x2(1P) — ~vJ/¥(1S)) also measured in ABLIKIM 17u.

2 Uses B(¥(2S) = vxcp — vvJ/¥) from ADAM 05A and B(v(25) — vxp) from
ATHAR 04.

0
(70°) /Ttotal Fo2/T
VALUE (units 10_6) CL% EVTS DOCUMENT ID TECN COMMENT
<19 90 13+ 11 1 ABLIKIM 11E BES3 %(2S) — ~yvp9
e o o We do not use the following data for averages, fits, limits, etc. @ o @
<40 90 17.2+6.8 2BENNETT  08A CLEO (2S) — ~~o°

L ABLIKIM 11E reports < 20.8 x 10~© from a measurement of [F(xe2(1P) = ~p )/
Tiotall X [B(¥(2S) = vx2(1P))] assuming B((2S) — 7XC2(1P)‘5 = (8.7440.35) x

102, which we rescale to our best value B(¥(2S) = vxp(1P)) =9.52 x 10~ 2

2BENNETT 08A reports < 50 x 1070 from a measurement of [M(xe2(1P) = ~p )/
Miotall X [B(¥(25) = vx2(1P))] assuming B(¥(25) — vyxo( lP)% (8.1+£0.4) x

1072, which we rescale to our best value B(¢(2S) — ~vxp(1P)) = 9.52 x 10~2.

M (vw)/Teotal Fo3/l
VALUE (units 1076) CL% EVTS DOCUMENT ID TECN COMMENT

<6 90 1+6 1 ABLIKIM 11E BES3 4(2S) » vyyw

e o o We do not use the following data for averages, fits, limits, etc. e o @

<6 90 0.0+ 1.8 2 BENNETT 08A CLEO 1(2S) —» vyyw

L ABLIKIM 11E reports < 6.1 x 100 from a measurement of [ (x5(1P) = 7@)/Ttotall
X [B(¥(2S) = vx2(1P))] assuming B(1)(2S) = vx2(1P)) = (8.7440.35) x 1072,
which we rescale to our best value B(¢(25) — vxo(1P)) = 9.52 x 102,

2BENNETT 08A reports < 7.0 x 100 from a measurement of [Mxe2(1P) = ~w)/
Tiotall X [B(¥(2S) — vxo(1P))] assuming B(¢(25) — vyxo(1P)) = (8.1 £ 0.4) x
102, which we rescale to our best value B(¥(25) = vxo(1P)) = 9.52 x 102,

[(74)/Total Foa/I
VALUE (units 1076) CL% EVTS DOCUMENT ID TECN COMMENT

<7 90 545 1 ABLIKIM 11E BES3 %(2S) = yv¢

e o o We do not use the following data for averages, fits, limits, etc. @ o @

<11 90 13425 2 BENNETT 08A CLEO (2S) —» ~vyv¢

1 ABLIKIM 11E reports < 8.1x 1075 from a measurement of [M(xc2(1P) = v8) /Tiotall
X [B((2S) = vxcp(LP))] assuming B(¢:(2S) = vxcp(1P)) = (8.7440.35) x 10~ 2,
which we rescale to our best value B(¢)(25) — ~vxo(1P)) = 9.52 x 102,

2BENNETT 08A reports < 13x 10~ from a measurement of M(xe2(1P) = v¢) /Tiotall
x [B(1(25) = vXxc2(1P))] assuming B(¥(2S) — vx2(1P)) = (8.1 £0.4) x 1072,
which we rescale to our best value B(¢(25) — vxo(1P)) = 9.52 x 102,

F(v7)/Ttotal los/T
VALUE (units 10~4) DOCUMENT ID

2.85+0.10 OUR FIT

(et e J/9(15))/Trotal Foe/I
VALUE (units 10-3) EVTS DOCUMENT ID TECN  COMMENT

e o o We do not use the following data for averages, fits, limits, etc. @ o @
2.3740.1540.05 1.3k L2 ABLIKIM 171 BES3 ¢(25) —» vete J/y
L ABLIKIM 171 reports (2.48+£0.08+0.16) x 10~ 3 from a measurement of [M(xeo(1P) —
et e J/Y(1S)) /Tiotall X [B(¥(2S) = 7x2(1P))] assuming B((25) = vx2(1P))
= (9.11 £ 0.31) x 102, which we rescale to our best value B(4(2S) = vx2(1P))

= (9.52 £ 0.20) x 1072, Our first error is their experiment's error and our second error
is the systematic error from using our best value.
2 Not independent from other measurements reported by ABLIKIM 17i
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r(ete™J/9(1S)) /T (vJ/¥(1S)) Fo6/To1 NODE=M057R83
VALUE (units 10=3) EVTS DOCUMENT ID TECN  COMMENT NODE=MO057R83
11.3+0.4+0.5 13k L1ABLIKIM 171 BES3 (25) — ete ~J/v

1 Uses B( 1[)(25) — ’yxcz(lp)) X B( XC2(1P) — "/J/’Ll)(ls)) = (199.6 + 0.8 &+ 7.0) X NODE:M057R83;L|NKAGE:A

104 from ABLIKIM 17N and accounts for common systematic errors.
M (pt u= J/9(1S)) /T (et e J/¥(1S)) Fo7/To6 NODE=MO057R96
VALUE (units 10~2) EVTS DOCUMENT ID TECN  COMMENT NODE=MO057R96
9.40+0.79+1.15 219 ABLIKIM 192 BES3 9(25) — vx. —
vt T J/p)

F(v7)/T(14/%(1S)) lo5/To1 NODE=MO057R23
VALUE (units 10~3) DOCUMENT ID TECN  COMMENT NODE=MO057R23
1.50+0.05 OUR FIT
0.99::0.18 1 AMBROGIANI 008 E835 Bp — xeo — 77 7J/0

1 Calculated by us using B(J/4(1S) — et e™) = 0.0593 + 0.0010. NODE=MO057R;LINKAGE=7A
r(’Y’Y)/rtotaI X r(Pﬁ)/rtotal los/I" x I'sg/T NODE=M057R24
VALUE (units 10~8) DOCUMENT ID TECN  COMMENT NODE=MO057R24

2.09+0.13 OUR FIT
1.7 +£0.4 OUR AVERAGE

1.60+0.42 ARMSTRONG 93 E760 Bp — X
9.9 +45 BAGLIN 878 SPEC pp — v7X

Xc2(1P) CROSS-PARTICLE BRANCHING RATIOS NODE=M057230
M(xc2(1P) = K* K7t 7™) [Teoral x T(¥(25) = 7xc2(1P))/r(;P(25)—s>

— 2 2
J/(1S)ntn™) M1a/T x I"fé:,, )/rqlbl( ) NODE=M057B18
VALUE (units 10~3) DOCUMENT ID TECN  COMMENT NODE=MO057B18

2.311+0.26 OUR FIT
2.5 0.9 OUR AVERAGE Error includes scale factor of 2.3.

1.9040.14+0.44 BAI 998 BES  %(2S5) = vxco
3.8 +0.67 1 TANENBAUM 78  MRK1 %(2S) = ~vxco
1 The reported value is derived using B(1(2S) — ata— J/¢P) x B(J/¢Yp — ot 7)) = NODE=M057B18;LINKAGE=TA

(4.6 + 0.7)%. Calculated by us using B(J/¢ — £1¢7) = 0.1181 + 0.0020.

F(xc2(1P) = K*(892)°K*(892)°) /Fyoral X I'(%(25) = vxc2(LP))/

¥(2S) ;ry(25
Mtotal F1g/l x Mig3" /T¥(29) NODE=M057B19
VALUE (units 10~4) DOCUMENT ID TECN  COMMENT NODE=M057B19
2.1 £0.4 OURFIT
3.114+0.36+0.48 ABLIKIM 04H BES2 1(2S) — YXc2
"(xc21P) > PP)/Frt X T(425) > McalAPY/T(02) >
+, - ¥(2S) ,~¥(2S
J/(1S)ntn™) Ise/I x g3 /T11 NODE=M057B1
VALUE (units 10~5) DOCUMENT ID TECN  COMMENT NODE=M057B1
2.01+0.09 OUR FIT
1.4 +1.1 1Al 981 BES  9(25) = vyXxco — VPP
1 Calculated by us. The value for B(x.p — pPp) reported in BAI 98I is derived using NODE=MO057B;LINKAGE=J8
B(1(2S) = vXc2) = (7.8 £ 0.8)% and B(1(2S) — J/p(18)nT 7)) = (32.4 +£2.6)%
[BAI 98D].

r(Xc2(1P)_’ Pﬁ)/rtotal X r(¢(25)-> 'YXc2(1P))/rtotaI (25)
¥(2
Fs6/I x M55 /T¥(25) NODE=M057B6
VALUE (units 10~6) EVTS DOCUMENT ID _ TECN COMMENT NODE=MO057B6

6.98+0.32 OUR FIT
7.1 £0.5 OUR AVERAGE Error includes scale factor of 1.2.

7.3 £0.4 +03 405 ABLIKIM 13v BES3 ¢(25) — ~vpp
72 £07 +£04 121+12 1NAIK 08 CLEO v(2S) = ~vpp
a4 T30 106 143732 BAl 04F BES  %(25) = vxea(1P) = vPp
! Calculated by us. NAIK 08 reports B(xco — pPp) = (7.7 + 0.8 £ 0.4 £ 0.5) x 107> NODE—M057B6: LINKAGE=NA

using B((25) = 7xcp) = (9.33 % 0.14 + 0.61)%.



r(Xc2(1P) — Am/rtotal X I'(¢(2S) — '7Xc2(1P))/rtotal
Feo/T x FY3S) /r(2s)

VALUE (units 1076) EVTS DOCUMENT ID TECN COMMENT
17.5+1.3 OURFIT

17.41+1.4 OUR AVERAGE

18.2+1.4+0.9 207 1 ABLIKIM 134 BES3  #(25) — yAA
15.942.1+1.0 71+9  2NAIK 08 CLEO (25) — yAA

1 Calculated by us. ABLIKIM 13H reports B(xcp — AA) = (20.8 + 1.6 + 2.3) x 105

from a measurement of B(x.o — AA) x B(4(2S) = vxo) assuming B(4(2S) —
YXc2) = (8.74 + 0.35)%.

2 Calculated by us. NAIK 08 reports B(xep = AA) =(17.0£22+11+11)x 107>
using B(1(25) — vXcp) = (9.33 + 0.14 + 0.61)%.

M(xc2(1P) = A7) /Troral X T(#%(25) = vxea(1P))/F ((25) =
J/H(1S)nt ) Moo/ x F3a) /1{%S)

VALUE (units 10~2) EVTS DOCUMENT ID TECN  COMMENT
5.11+0.4 OUR FIT
7'11-3:5:':1'3 8'31_%:1 L BAI 03 BES  (25) = yAA

1 BAI 03E reports [B(xeo — AA) B(¥(25) = vxo) / B(¥(2S) — J/prt )] x
[B2(/\ — 7 p)/BJ/Y = pp)] = (1331‘822 + 0.25)%. We calculate from this
measurement the presented value using B(A = 7 p) = (63.9 & 0.5)% and B(J/¢ —

pp) = (2.17 + 0.07) x 10~ 3.

M (xc2(1P) = 77) [Trotal X T(¥(25) = 7xc2(1P))/Ttotal
Fas/T x TY3S) /ru(2s)

VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT

2.12+0.08 OUR FIT

2.17+0.09 OUR AVERAGE

2.1940.05+0.15 45k 1 ABLIKIM 10A BES3 ete™ — 4(25) = vxeo
2.23+0.06+0.10 25k  2ASNER 09 CLEO (25) » yntn—
1.90+0.084+020 08k 3 ASNER 09 CLEO (25) —» ~vn0#0

1 Calculated by us. ABLIKIM 10A reports B(x oy — n0x0) = (0.88 + 0.02 + 0.06 +

0.04) x 1073 using B(4/(25) = vxc2) = (8.3 £ 0.4)%. We have multiplied the 700
measurement by 3 to obtain 7.

2 Calculated by us. ASNER 09 reports B(xco — ata™) = (1.59 + 0.04 £+ 0.07 +
0.10) x 10~3 using B(¥(2S) = vxc2) = (9-33 £ 0.14 £ 0.61)%. We have multiplied
the 7T 7~ measurement by 3/2 to obtain 7.

3 Calculated by us. ASNER 09 reports B(x oy — 7070) = (0.68 + 0.03 + 0.07 + 0.04) x
103 using B((2S5) — YXe2) = (9.33 &£ 0.14 & 0.61)%. We have multiplied the

7070 measurement by 3 to obtain 7.

M(xc2(1P) = 77) /Trotal X T($(25) = 7Xc2(1P)) /T ((25)
J/H(1S)nt ) P25/ x F§a2) /r$2S)

VALUE (units 10_3) EVTS DOCUMENT ID TECN COMMENT
0.612+0.023 OUR FIT

0.54 +0.06 OUR AVERAGE

0.66 +0.18 +0.37 21 + 6 1Al 03c BES  (2S) —» ~n0#0
0.54 +£0.05 £0.04 185+16  2BAI 981 BES  (25) —» ymtx—

LWe have multiplied 7070 measurement by 3 to obtain 7.

2 Calculated by us. The value for B(x .o — 7r+7r_) reported by BAI 98I is derived using
B((2S) — vxc2) = (7.8 £ 0.8)% and B(¥(2S) — JjpnTrT) = (324 + 2.6)%
[BAI 98D]. We have multiplied 7 7~ measurement by 3/2 to obtain 7.

r(XCZ(IP) - n'l)/rtotal X r(¢(25) - '7Xc2(1P))/rtotal
F31/F x [{3) /rv(2s)

VALUE (units 1074) CL% EVTS DOCUMENT ID TECN COMMENT
0.52+0.04 OUR FIT

0.522:0.04 OUR AVERAGE

0.54+0.03-£0.04 386 1 ABLIKIM 10A BES3 ete™ — 4(25) —

YXc2
0.47+0.054+0.05 156 ASNER 09 CLEO #(2S) — ~nn
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e o o We do not use the following data for averages, fits, limits, etc. @ o @

< 0.44 90 2 ADAMS 07 CLEO (25) > vxco
<3 90 BAI 03c BES  ¢(2S) — ~nn — 5y
0.62+0.31+£0.19 LEE 85 CBAL (2S) — photons

1 Calculated by us. ABLIKIM 10A reports B(xeo — mm) = (0.65 4 0.04 4 0.05 4 0.03) x
103 using B(x(25) — YXe2) = (8.3 £ 0.4)%.
2 Superseded by ASNER 09.

r(XcZ(IP)_) K* K_)/rtotal X r(¢(25)—) 'YXCZ(IP))/rtotaI
Faa/T x [825) /rv(25)

VALUE (units 1075) EVTS DOCUMENT ID TECN COMMENT
9.60.6 OUR FIT
10.5+0.310.6 16k  LASNER 09 CLEO (25) » vKt K~

L Calculated by us. ASNER 09 reports B(xco — KT K™) = (1.13 £ 0.03 + 0.06 +
0.07) x 1073 using B(¥)(25) — vxcp) = (9.33 + 0.14 + 0.61)%.

M(xc2(1P) = K* K™)/Teotal x T(¥(25) = vxc2(1P))/T (¥(25) -

J/$(1S)xt 7™) Faa/T x [829) /r¥(29)
VALUE (units 1073) EVTS DOCUMENT ID TECN COMMENT
0.276+0.017 OUR FIT

0.190+0.034+0.019 115+ 13  1BAI 981 BES  (2S) - yK+T K~

1 Calculated by us. The value for B(x .o — K+ K ™) reported by BAI 98I is derived using

B(4(25) = vXco) = (7.8 + 0.8)% and B(4(2S) — J/onTn~) = (32.4 + 2.6)%
[BAI 98D].

r(Xc2(1P) - Kg Kos)/rtotal X r(¢(25) - 'YXc2(1P))/rtotal
Fas/T x FY3S) /ru(2s)

VALUE (units 1075) EVTS DOCUMENT ID TECN  COMMENT

5.0 £0.4 OURFIT
5.0 £0.4 OUR AVERAGE

49 +0.3 +0.3 373 4+ 20 1 ASNER 09 CLEO (25) — 'yK% K%
5.72+0.76£0.63 65 ABLIKIM 050 BES2 (25) — yKZKZ

1 Calculated by us. ASNER 09 reports B(xcp — K2KQ) = (0.53 + 0.03 + 0.03 +
0.03) x 103 using B(¥(2S) = vxc2) = (933 £ 0.14 + 0.61)%.

r(XcZ(]-P) - Kg Kos)/rtotal X r(1/)(25) - 'YXCZ(]-P))/F(‘/)(zs) —

J/$(1S)x* 7~) Fas/T x FY2S) /r¥29)
VALUE (units 1075) DOCUMENT ID TECN COMMENT

14.4+1.1 OURFIT

14.7+4.143.3 LAl 998 BES  ¢(25) - vKIKY

1 Calculated by us. The value of B(x .o — K% K%) reported by BAI 99B was derived using

[B(Apl(zs)ﬁ YXca(1P)) = (7.8 4£0.8)% and B(¢(25) — J/¢nT77) = (32.4+2.6)%

M(xc2(1P) = KOK* 1~ +c.c.) [Teotal X T(¥(25) = Yxc2(1P)) /T iotal
Faa/T x TY3S) /ru(2s)

VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT

1.22+0.17 OUR FIT

1.15:+0.18 OUR AVERAGE

1.2140.1940.09 37 1ATHAR 07 CLEO (2S) — WK% KEoF

0.9740.32+0.13 28 2 ABLIKIM 06R BES2 (25) » yKgKErT

L Calculated by us. ATHAR 07 reports B(xeo — KOktr— 4+ cec) =(13+£02+£
0.1 + 0.1) x 1073 using B(1(2S) = vxcp) = (9.33 + 0.14 + 0.61)%.

2 Calculated by us. ABLIKIM 06R reports B(xcp — K KT 7T) = (0.6 £02+0.1)x
103 using B(¥(25) — YXc2) = (8.1 £0.6)%. We have multiplied by 2 to obtain
KOK*T 7~ 4 cc. from K%Kifr?.
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M(xc2(1P) = 2(7* 77)) /Teota x F(¥(2S) = Yxc2(1P))/T ((2S) -

J/p(1S)nt 7~ r/r x {5 r{?®
VALUE (units 1073) DOCUMENT ID TECN COMMENT

2.791+0.26 OUR FIT

3.1 £1.0 OUR AVERAGE Error includes scale factor of 2.5.

2.3 +£0.1 +05 1Bal 998 BES  9(25) = X2
43 +0.6 2 TANENBAUM 78 MRK1 $(2S) = 7xXco

1 Calculated by us. The value for B(xco — 27t 27 7) reported in BAI 998 is derived using

B(4/(25) — vXcp) = (7.8+0.8)% and B(1(2S) — J/$(1S)x ) = (32.4+2.6)%
[BAI 98D].

2The value for B(¥(2S) = vx2)xB(xeo — 27T 77) reported in TANENBAUM 78
is derived using B(¥(2S) — J/9(1S)n T 77 )xB(J/¢(1S)¢t¢7) = (4.6 + 0.7)%.
Calculated by us using B(J/¢(1S) — ¢1£7) = 0.1181 + 0.0020.

M(xc2(1P) = KT K~ KT K~) [Total X T(¥(25) = vXxc2(1P))/Ttotal
Fs1/T x FY3S) /ru(2s)

VALUE (units 1074) EVTS DOCUMENT ID TECN COMMENT
1.57+0.19 OUR FIT
1.7610.16+0.24 160 1 ABLIKIM 06T BES2 (25) — 2Kt 2K~

1 Calculated by us. The value of B(x.o — 2KT2K™) reported by ABLIKIM 06T was
derived using B($(2S) — 7x.p(1P)) = (8.1 + 0.4)%.

r(XcZ(]-P)_) Kt K=K+ K_)/rtotal X r(¢(25)—> 'YXcZ(IP))/

F(¥(25) = J/(1S)x* n~) Fs1 /T x [E25) /r¥(29)
VALUE (units 1074) DOCUMENT ID TECN COMMENT

454+0.5 OUR FIT

3.6+0.60.6 LAl 998 BES  (25) — 2Kt 2K~

1 Calculated by us. The value of B(x.o — 2K+2K_) reported by BAI 99B was derived

using B(1)(2S) = vx2(1P)) = (7.8 £0.8)% and B(¥(2S) — JprtaT)=(3244+
2.6)% [BAI 980].

r(Xc2(1P) - ¢¢)/rtotal X r(¢(25)—> ’YXc2(1P))/rtotal s
Fao/T x [425) /rv(25)
VALUE (units 10_4) EVTS DOCUMENT ID TECN COMMENT
1.01+0.08 OUR FIT
0.98+0.13 OUR AVERAGE Error includes scale factor of 1.3.
0.944+0.03+£0.10 849 1 ABLIKIM 11Kk BES3 (2S5) — ~ hadrons
1.38+0.24+0.23 41 2 ABLIKIM 06T BES2 1(25) — ~v2K+T2K™
1 Calculated by us. The value of B(x.p — ¢¢) reported by ABLIKIM 11K was derived
using B(¥(2S) = vx2(1P)) = (8.74 £ 0.35)%.
2 Calculated by us. The value of B(xp — ¢¢) reported by ABLIKIM 06T was derived
using B(¥(2S) = vx2(1P)) = (8.1 £ 0.4)%.

M(xc2(1P) = 69) /Tiotal X T(¥(2S) = Yxc2(1P))/T (¥(2S) -

J/p(1S)xt7) Fao/T x [429) /r¥(29)
VALUE (units 1074) DOCUMENT ID TECN COMMENT

2.924-0.24 OUR FIT

48 +13 +13 1Al 998 BES  (2S) — 2Kt 2K~

1 Calculated by us. The value of B(x.p — ¢#¢) reported by BAI 998 was derived using
B(¥(2S) = vxco(1P)) = (7.8 +£0.8)% and B((2S) — J/pntn7) = (324£2.6)%

[BAI 98D].
I'(xcz(lP)—> Z+5K2+C-C-)/l'tota| X I'(¢(2S)—) 7Xc2(1P))/rt;tal
2
F7o/T x TY2S) /r(25)
VALUE (units 1076) EVTS DOCUMENT ID TECN COMMENT
7.85+0.77+0.44 129 L ABLIKIM 1988 BES3  ¢(25) — vXTpKY + cc.

1 Calculated by us. ABLIKIM 1988 reports B(xcp — >:+ﬁKg +cc) =(825+083+

0.49) x 10~5 using B(1(2S) — YX¢2) = (9-52 £ 0.20)% and other branching fractions
from PDG 18.
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r(XcZ(]-P)_) 205K++C-C-)/rtotal X r(¢(25)—) 'YXc2(1P))/rtotal

2S
lgo/I" x rfs(s ) re(2s) NODE=M057P00

VALUE (units 10~5) EVTS DOCUMENT ID TECN  COMMENT NODE=MO057P00
0.87+0.06+0.04 271 1 ABLIKIM 20AE BES3  9(25) — ~39pk+ |
+ c.c.
1 Calculated by us. ABLIKIM 20AE reports B(xcp —+ Z0pK™ + c.c.) = (0.91+0.06 + NODE—=M057P00:LINKAGE=A
0.05) x 10~% using B(¥(2S) = vxc2) = (9.52£0.20)% and other branching fractions
from PDG 20.

r(Xc2(1P)_> 7J/¢(15))/rtotal X r(¢(25)_) 'YXc2(1P))/rtotaI

25
o1/l x r‘fés ) fre(2s) NODE=M057B2
VALUE (units 10~2) EVTS DOCUMENT ID TECN  COMMENT NODE=MO057B2
1.81 £0.04 OURFIT
1.69 £0.16 OUR AVERAGE Error includes scale factor of 3.4. See the ideogram below.

1.996+0.008+0.070 81k 1 ABLIKIM 17N BES3  (2S) — ~y~J/v

1.793+0.008+0.163 1.0M ABLIKIM 17U BES3 ete™ — v X

1.62 +0.04 +0.12 5.8k BAI 041 BES2 (2S) — J/¢¥~vy

0.99 +0.10 +0.08 GAISER 86 CBAL ¢(2S) —» X

1.47 +0.17 2 OREGLIA 82 CBAL 4(25) = 7xco

1.8 £05 3 BRANDELIK 798 DASP %(2S) = vx o

12 +02 3 BARTEL 788 CNTR 9(2S) = vXcp

22 +1.2 4 BIDDICK 77 CNTR ete™ = X

1.2 407 2 WHITAKER 76 MRK1l ete™

e o o We do not use the following data for averages, fits, limits, etc. e o @

1.874+0.007+0.102 76k 5 ABLIKIM 120 BES3 ¢(2S) — YXc2

1.95 +£0.02 +£0.07  12.4k 6 MENDEZ 08 CLEO (25) = vXco

1.85 +0.04 +0.07 1.9k 7 ADAM 05A CLEO Repl. by MENDEZ 08
LUses B( J/p —+ eTe™) = (5.971 £ 0.032)% and B( J/v — pFpu™) = (5.961 + NODE=M057B2;LINKAGE=A

0.033)%.

2 Recalculated by us using B(J/%(1S) — ot ¢~) = 0.1181 =+ 0.0020. NODE=MO057B;LINKAGE=3Q
3 Recalculated by us using B(J/%(1S) = pt ™) = 0.0588 + 0.0010. NODE=MO057B;LINKAGE=2Q
4 Assumes isotropic gamma distribution. NODE=MO057B;:LINKAGE=EA
5Superseded by ABLIKIM 17N. NODE=M057B2;LINKAGE=B
6 Not independent from other measurements of MENDEZ 08. NODE=M057B2;LINKAGE=ME
7 Not independent from other values reported by ADAM 05A. NODE=M057B;:LINKAGE=AD

WEIGHTED AVERAGE
1.69+0.16 (Error scaled by 3.4)

’

Values above of weighted average, error,
and scale factor are based upon the data in
this ideogram only. They are not neces-
sarily the same as our ‘best’ values,
obtained from a least-squares constrained fit
utilizing measurements of other (related)
quantities as additional information.

2

X
------ ABLIKIM 17N BES3 19.3
------ ABLIKIM 17U BES3 04
------ BAI 041 BES2 0.3
------ GAISER 86 CBAL 29.6

------ OREGLIA 82 CBAL 1.6
- - - - BRANDELIK 79B DASP
------------- BARTEL 788 CNTR 59
BIDDICK 77  CNTR
-------- WHITAKER 76  MRK1

571
(Confidence Level < 0.0001)
| J

0.5 1 1.5 2 25 3 3.5

r(XcZ(lp) - 'VJ/w(ls))/rtotal X r(w(25) - 'YXCZ(IP))/rtotaI (units

1072)
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[(xc2(1P) = 7J/%(15)) /Trotal X T (¥(25) = vxc2(1P))/T (¥(25) -

. 2S 2S
J/¢(1$)anythmgg s s s I'912/5|- X r‘fég )/ r‘g“ ) NODE=M057B7
Fo1/T x r11115(3 )/rg( ) =rgy/r r11115(3 )/(rzlbl( )”llbz( )+r11¢§ )t NODE—=MO57B7
0_343|—11/1é§5)+0_190|—11/15(§5))
VALUE (units 10~2) EVTS DOCUMENT ID TECN  COMMENT NODE=M057B7

2.95+0.06 OUR FIT

e o o We do not use the following data for averages, fits, limits, etc. e o @

3.12+0.034+0.09 12.4k 1 MENDEZ 08 CLEO ¢(2S) — YXc2
3.114+0.07+£0.07 1.9k ADAM 05A CLEO Repl. by MENDEZ 08
I Not independent from other measurements of MENDEZ 08. NODE=MO057B7;LINKAGE=ME
[(xc2(1P) = 7J/1%(15)) [Trotal x T (¥(25)— 7Xc2(1P))/r(¢((25))—>( )
. (2S) (25
J/p(1S)7* 1) Fo1/T x Ty53~ " /T11 NODE=MO57B3
VALUE (units 10~2) EVTS DOCUMENT ID TECN  COMMENT NODE=M057B3

5.224+0.11 OUR FIT
5.5310.17 OUR AVERAGE

5.56+0.05+0.16 12.4k MENDEZ 08 CLEO (25) = vxc2

6.0 +£2.8 1.3k 1 ABLIKIM 048 BES  ¢(2S) —» J/yX

39 £1.2 2 HIMEL 80 MRK2 (25) = vxc2

e o o We do not use the following data for averages, fits, limits, etc. ® o @

5.52+0.134+0.13 1.9k 3 ADAM 05A CLEO Repl. by MENDEZ 08
LFrom a fit to the J/4 recoil mass spectra. NODE=M057B;LINKAGE=AB
2The value for B(zp(ZS) — ’YXCZ)XB(XCZ — ’yJ/lﬁ(lS)) reported in HIMEL 80 is NODE=MO057B:LINKAGE=HS8

derived using B(¥(2S) — J/¢(1S)n T n7) = (33 + 3)% and B(J/¥(1S) — ¢T47)
= 0.138 + 0.018. Calculated by us using B(J/1(1S) — ¢+ ¢7) = (0.1181 =+ 0.0020).

3 Not independent from other values reported by ADAM 05A. NODE=M057B3;LINKAGE=AD
r(Xcz(]-P) - 'Y'Y)/rtotal X r(¢(2$) - 'YXCZ(IP))/rtotal (25)
(25 25
Fos/ x Mg3 /T¥(25) NODE=MO57B4
VALUE (units 10~5) EVTS  DOCUMENT ID TECN  COMMENT NODE=MO057B4

2.71+0.08 OUR FIT
2.8210.10 OUR AVERAGE

2.83+0.08+0.06 5k 1 ABLIKIM 17AE BES3  9(2S) — vXxco — 3v
2.68+0.28+0.15 0.3k ECKLUND 08A CLEO (2S) — vxcp — 37
7.0 £2.1 +£2.0 LEE 85 CBAL (2S) — vxc2
e o o We do not use the following data for averages, fits, limits, etc. o @
2.81+0.17+0.15 1.1k 2 ABLIKIM 12A BES3  ¢(2S5) = vxoo — 3v
L ABLIKIM 17AE measures the ratio of two-photon partial widths for the helicity A = 0 NODE=M057B4;LINKAGE=A

and helicity A = 2 components to be f /5 = rﬁo / r;\? = 0.000 + 0.006 + 0.012.

2 ABLIKIM 12A measures the ratio of two-photon partial widths for the helicity A = 0 and NODE=MO057B4:LINKAGE=AB
helicity A = 2 components to be fy ) = r2=0/rA=2 — 0,00 + 0.02 & 0.02. Superseded
Y Y
by ABLIKIM 17AE.

r(Xc2(1P) - 'Y'Y)/r(XCO(]-P) — 'Y'Y) r95/r§§0(lp) NODE=MO057B06
VALUE EVTS DOCUMENT ID TECN  COMMENT NODE=MO057B06
0.292+0.028 OUR AVERAGE

0.295+0.0144+0.028 8k 1 ABLIKIM 17AE BES3  ¢(2S) — YXeJ — 3y

0.2784+0.0504+0.036 0.5k 1 ECKLUND 08A CLEO 1(2S) — YXeg = 37
e o o We do not use the following data for averages, fits, limits, etc. @ o @

0.27140.02940.030 1.9k L2 ABLIKIM 12A BES3  9(25) = vxoj — 37

1 Not independent from the values of F(Xco» Xc2) and B(¥(2S) = X0 Xc2)- NODE=M057B06:LINKAGE=AB
2Superseded by ABLIKIM 17AE. NODE=MO057B06;LINKAGE=A
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MULTIPOLE AMPLITUDES IN xc2(1P) — 7J/%(15) RADIATIVE DECAY NODE_MO57240
ap = M2/+/E12 + M22 4 E32 Magpetic quadrupole fractional transition

amplitude NODE=MO057A1
VALUE (units 10~2) EVTS DOCUMENT ID TECN  COMMENT NODE=MO057A1
—11.0+ 1.0 OUR AVERAGE

—12.04 13404 8%k Ll ABLIKIM 17N BES3 4(2S) — ~y~et e~

— 03+ 16+03 198k 2ARTUSO 09 CLEO (2S) — yyite—

- 937t z:?io.e 59k 3 AMBROGIANI 02 E835 pp — xco — J/vv

—14 + 6 1.9k 3 ARMSTRONG 93t E760 pp — xeo = J/i7

~3337138 441 3 OREGLIA 82 CBAL ©(2S) = xc17v — J/bvy

e o o We do not use the following data for averages, fits, limits, etc. ® o @
— 7.94+ 19403 198k #ARTUSO 09 CLEO #(2S) — yy bt e~ OCCUR=2

1 Correlated with a3, by, and by with correlation coefficients Pa, a = 0.733, Payby =

NODE=M057AL;,LINKAGE=B
—0.605, and p,, b, = —0.095.

2From a fit with floating M2 amplitudes a5 and by, and fixed E3 amplitudes a3=b3=0. NODE=MO057A1:LINKAGE=AR
3 ) B ;

Assuming a3=0. NODE=MO057A1;LINKAGE=A
4From a fit with ﬂoating M2 and E3 amplitudes a, b2, and as, and b3. NODE=MO057A1:LINKAGE=AT

a3 = E3/V/E12 + M22 + E3? Electric octupole fractional transition ampli-

tude NODE=MO057A2
VALUE (units 10~2) EVTS DOCUMENT ID TECN  COMMENT NODE=MO057A2
—0.31+1.0 OUR AVERAGE Error includes scale factor of 1.3. See the ideogram below.
—~1.3+0.940.4 80k 1 ABLIKIM 17N BES3  4(25) — ~y~yet e~
17414403 19.8k 2 ARTUSO 09 CLEO (2S) — ~yeT e~
207324009 5908 AMBROGIANI 02 E835 pp — xep — J/¥v
o T° 1904 ARMSTRONG 93t E760 pp — xcp — J/tv
Correlated with ap, by, and b3 with correlation coefficients Pa, a3 = 0.733, pa3 by = NODE=MO057A2:LINKAGE=A
—0.422, and p,, . = —0.024.
3 b3
2From a fit with floating M2 and E3 amplitudes ay, by, and a3, and bs. NODE=MO057A2;LINKAGE=AR
WEIGHTED AVERAGE

-0.3+1.0 (Error scaled by 1.3)

2
X
— ABLIKIM 17N BES3 1.1
=\ ARTUSO 09 CLEO 1.9
- - - - AMBROGIANI 02 E835 0.2
------ ARMSTRONG 93E E760
3.2

(Confidence Level = 0.200)
x x |

-10 -5 0 5 10 15 20

a3 = E3/\/E12 + M22 + E32 Electric octupole fractional transition ampli-
tude (units 1072)




MULTIPOLE AMPLITUDES IN %(2S) =& ~vxc2(1P) RADIATIVE DECAY

by = M2/+/E12 + M22 4 E32 Magnetic quadrupole fractional transition

amplitude

VALUE (units 1072)  EVTS

DOCUMENT ID

TECN

COMMENT

1.9+0.9 OUR AVERAGE Error includes scale factor of 1.4. See the ideogram below.

1.74£0.8+0.2 89k LABLIKIM 17N BES3  (2S) — y~yet e~
46+1.0+1.3 13.8k 2ABLIKIM 111 BES3 (2S) —» ynta~, vKT K~
02+1.54+04 19.8k 3ARTUSO 09 CLEO (2S) — ~~eT o~
- 5113%¢ 721 2ABLIKIM 041 BES2 (2S) — ~ynta—, yKT K™
132798 441  4OREGLIA 82 CBAL w(25) — yyit e~
e o o We do not use the following data for averages, fits, limits, etc. @ o @
1.0+£1.340.3 19.8k 4 ARTUSO 09 CLEO ¢(25) — ~y~ete~
1 Correlated with ap, a3, and by with correlation coefficients Payb, = —0.605, Pagb, =

—0.422, and Pb, by = 0.384.

2From a fit with floating M2 and E3 amplitudes by and b3.
3 From a fit with floating M2 and E3 amplitudes ay, by, and a3, and b3.

4From a fit with floating M2 amplitudes ay and by, and fixed E3 amplitudes az3=b3=0.

WEIGHTED AVERAGE
1.940.9 (Error scaled by 1.4)

=\ ABLIKIM 17N BES3
- - ABLIKIM 111  BES3
-------- ARTUSO 09 CLEO
----- ABLIKIM 041 BES2
—= OREGLIA 82 CBAL
(Confidence Level =
| | |
-10 -5 0 5 10 15

by = I\/I2/\/ E12 + M22 + E32 Magnetic quadrupole fractional transition

amplitude (units 10_2)

2

>

0.1
2.7
1.2

4.0

0.137)

b3 = E3/+/E12 + M22 + E32 Electric octupole fractional transition ampli-

tude

VALUE (units 1072) EVTS DOCUMENT ID TECN COMMENT

—1.04+0.6 OUR AVERAGE

—1.440.7£0.4 89k LABLIKIM 17N BES3  1(2S) — wm—
154+08+1.8 138k  Z2ABLIKIM 111 BES3 (2S) = ynta—, vKT K™

—0.8+1.2402  19.8k ARTUSO 09 CLEO (2S) — wﬁr

—2. 7+‘21 g 721 2ABLIKIM 041 BES2 (2S) —» ynta~, vKT K~
1 . . . . . _ _

Correlated with a5, a3, and by with correlation coefficients Pa, by = —0.095, Pa3 by =

—0.024, and pb2 b3 = 0.384.

2 From a fit with floating M2 and E3 amplitudes by and b3.

MULTIPOLE AMPLITUDE RATIOS IN RADIATIVE DECAYS
¥(2S) = vxc2(1P) and xc2 = 7J/%(1S)

by/a; Magnetic quadrupole transition amplitude ratio

VALUE (units 10-2) EVTS

DOCUMENT ID

TECN

COMMENT

_11+14

*is 19.8k

1 ARTUSO 09

CLEO (2S) = ~yyeT o~
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NODE=MO057250

NODE=MO057QB2
NODE=MO057QB2

OCCUR=2

NODE=MO057QB2;LINKAGE=A

NODE=MO057QB2;LINKAGE=AB
NODE=MO057QB2;LINKAGE=AT
NODE=MO057QB2;LINKAGE=AR

NODE=MO057QB3
NODE=MO057QB3

NODE=MO057QB3;LINKAGE=A

NODE=MO057QB3;LINKAGE=AB

NODE=M057260

NODE=MO057QAR
NODE=MO057QAR



L statistical and systematic errors combined. From a fit with floating M2 amplitudes a5
and by, and fixed E3 amplitudes ag=b3=0. Not independent of values for a5(x o (1P))

and by(x2(1P)) from ARTUSO 09.
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A
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AULCHENKO
BAI
BAI

ABE
AMBROGIANI
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AMBROGIANI
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